PROFESSIONAL EXAMINATION BOARD

?  Professional Middle School Teacher Eligibility Test -
Cb@xommqtlon 2018
board 18th Feb 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) Thematic Apperception Test was designed by ./ fawg-sreraty= uteror (Qﬁﬁ_cﬁ
TRAURE ) §RT T yifed foear 4T Tl

1. Eysenck and Allport / 3-11%@? I 3Teae

2. Galton and Kretchemer / 3TeceT 3T hadT

3. Jung and Sheldon / ?EI_’?T}ﬁT A3
4. Murray and Morgan / #FX 31X #leTeT

Correct Answer :-

. Murray and Morgan / #X 3T AT

2) You are a pediatric resident. A 7-year-old Tarun is suspected to suffer from autism. You
referred this boy to see an educational psychologist for assessment. The education psychologist
sends a report to you and you need to explain the findings to his mother. His strength is MOST
likely found in which of the following areas?

/ 3ITY U dTdfafped® &1 7 I & a0l &1 3fifeed 4 Nifsd g1 &1 319
YT 3ATYA 5T AP P Aipad P Qg U Afére AdTI D B @ &
forg W1 e wdTe 3Mue) ve RUid Aear @ 3R U] 39H 3
qrel frepy I I B AT B U B ATIYHT 8 | SHB! dTehd,
fFrafafad A 9 feg &7 & 817 o gaifie dva-r 82

1. Oral presentation skills / Afgs ER-T:IJ?T hierel
2. Verbal concept formation/ FHI & ITUROT IS

3. Block design/ seller f3<iIs

4. Abstract thinking/ 3-]?{\?—‘[ arg

Correct Answer :-



. Block design/ sclieh f3oTS

3) Gender is determined while sex is determined. / freT

¥ ¥ PuiRE g § Tar AT w9 @ PuiRasard)
1. Socially, Culturally / m,ﬂiﬁjﬁlﬁ?

2. Biologically, Socially / ifaes ,grafais

3. Biologically, Environmentally ISIGER ,tmﬁaﬂﬁm

A

4. Culturally, Biologically /HiRpidd ,Sifddb

Correct Answer :-

4) Children often blame themselves for parental conflict. What Piagetian
principle explains this belief? / §T 3FaT AG-fAar & di=r §'l!' SIS &
foT gg A ot #rd ¥ Rarer Rguia 3@ Qe @ Far sarear w3
8?

1. Egocentrism / ¥arey
2. A-not-B error / T-sTgi-aT ?lfc'f
3. Conservation / II&T0T

4. Animism / HalcHAIC

Correct Answer :-

. Egocentrism / Fard

5) A set of rules that helps us to derive meaning is known as: / st 1
qe S X Y AT H A AT 8, e & T F AT AT §:

1. Sentences / dTFd

2. Phonemes / Blai&d
3. Words / lsq

4. Semantics / AIATCH



Correct Answer :-

. Semantics / THTCH

6) Trisha is an eight-year old girl who confidently performs arithmetic tasks
that involve adding or subtracting zero from a number. According to Piaget,
which cognitive ability enables Trisha in understanding the concept?/ X2 T

TS guly asdr §, S ATcATIRET ¥ FFAOHT F1F FIAT § TwH vH
HEAT § T ) SAsar A1 g afae 31 ek & aefar, sia @t
HAEACHS &TAdT e ) 3TUROT FHsTs H HaTH Tt 872

1. Decenter/ ﬁa:qw

2. Conservation/ TI&TOT
3. Logical reasoning/ cTfehehdl (liTotehel IIoTieidr)
4. Reversibility/ faaar

Correct Answer :-

. Logical reasoning/ dTfehepdT (@ilTotehel {Isifeian)

7) By three years, the child is able to speak ./ Al a¥ g, sT@
diee ¥ |aTA {er B

1. Syllables / 31&TX

2. Grammatically complete words / ST 01k &I tI;U‘f As
3. Words / 2Ueq;

4. Functionally complete words / PRITcHS ¥ Tﬁ' Asc

Correct Answer :-

« Functionally complete words / FATCHS &I q‘;U‘f AUec

8) According to Abraham Maslow, is the summit of human motivation.
/ TEH AT F HTUR, ___ ATTd G0 AT qUH1SaT B

1. Safety need / GI&TT CANICEDE TS|

2. Love and belonging need / HEIT{‘UFIT Td Tig I 3ATaeTehdr



3. Need for Self-actualisation / W—ﬁlﬂ:@' CANR ICERIC TS
4. Esteem need / GFHATT T 3TTThdl

Correct Answer :-

« Need for Self-actualisation / W—ﬁ?{% AR GERICTS ||

9) What type of memory processing involves focusing on the superficial
characteristics of an object? / ¥ TSR &Y Fﬂﬁ' YHERIOT H R a&d
T Fag dvar W eue Fga @ anfAa g2

1. Deep level processing / IT@T X T

2. Partial processing / 3TTTRIh G&TEA

3. Elaborative processing / ﬁ??(l}_-f qarereT

4. Shallow level processing / 3Tl TAX AT

Correct Answer :-

. Shallow level processing / 3YelT TAX AT

10) What principle of learning is observed when a child does well in an exam
because he was promised a new phone? / sferere &1 FlT @1 ﬁa}n?r afara
ST § o9 sTar R o # reoT g #ar § #4ifE 3§ e av
WIsT T aTer fHar aam a1?

1. Negative reinforcement / sTehRIcHh qodéldd

2. Negative punishment / sThRTcH GUs

3. Positive punishment / HRTcHs SUS

4, Positive reinforcement / HhRTcHSD go-lofloio-l

Correct Answer :-

. Positive reinforcement / HhRTcHD :I)o-léﬂo-l

11) What is the unit of heredity? / HTIafwar 1 FHS FIT 52

1. Zygote | JIHATS



2. Gene / SileT

3. Fertilized cell / AT hifenr
4, Chromosome /@ﬂﬁ@n

Correct Answer :-

. Gene/ ST

12) A child does his chores because he will be rewarded with a chocolate if he
does. What is the term used to describe the chocolate? / U&h §TdT 3(del HIH
AT § FIF IR g FIAT ¢ af 3/ dlhoe ¥ WEpod fhar STeam|
gidelc FT quId Flal & AU Fa oasg &1 39909 Far Jmar g2

1. Operant conditioner / ﬁ?amg 3-1333'%
2. Punishing stimulus / &Y 3?.'@'%5

3. Reinforcer / 9deleh

4. Neutral stimulus / JCET 3&c9h

Correct Answer :-

. Reinforcer / Ydeleh

13) Trail and error method was put forth by: / ¥esl 74T If¢ A goreh
garr yfaarfee #r 71$:

1. Thorndike / ATT8TSH

2. Kohler / hIgoll
3. Piaget / O

4. Pavlov / 9rdelld

Correct Answer :-

. Thorndike / TS

14) A student who completes tasks to earn marks is motivated by:/ T ST S

3% Hola & F AT v g0 Far @, 98 399 IR @ ¥



1. Knowing needs/ 3Ta2IhdI31 &l SATeTaAT
2. Intrinsic factors/ 3TcReh HRP

3. Extrinsic factors/ EI'I—E-'»ﬁ h{h

4. Mastery goals/ #gRd & T

Correct Answer :-

. Extrinsic factors/ STgY eh

15) Through classical conditioning, a neutral stimulus becomes a/an A
Rrufafsa wrqsee (Farf@we Fufam) & aeas @, vw sl
SEdH T oo ST §

1. Unconditioned Response / Hﬂﬂﬁjﬁlﬁ 1A ToRar

pel
o

2. Unconditioned stimulus / 3Telelehiold 3ccldh

XN ~

o o

3. Conditioned stimulus / HTeJehell 3carden

4. Conditioned Response / W H@WT

Correct Answer :-

16) A continuous loud noise is avoided by closing the door. This is an example

of ./ AT BT 9¢ F& TINAR T Irell AT TaTar & &9T ST &)
qE $T TS 3STEI0T ¢

1. Negative reinforcement / sThRTcHh Lio-lcflolo-l

2. Negative punishment / JhRTcHh GUS

3. Positive punishment / ShRIcHb gUS

4, Positive reinforcement / ShRTIcHD 'jo-lscloic-l

Correct Answer :-

. Negative reinforcement / sThRTcHh LIoo-hsclolo-l



During middle childhood, when faced with failure, what meaning would
children attach to their experience? / 7T TUUT & G, T FAHAAT BT
HIHAT FIAT GST g, dl T YA [T @ FAT FASAN?

1. Shying away from activities in which they are likely to succeed. / Gl THY
afafafear @ oY Ed ¢ TSiete 3T Aol Blel T HTI=T &l

2. Conclude that trying new things is better. / Ig fa2ad & ok s rar Hr
ALY FAT g &

3. Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / Ig fo~hy Seprerer fh 3werar
3AFT H&THAT FT Hohd g, T ol fufa § 98 Af8erH e o
HEATH H q AT FEr fHar a1 Fehr g

4. Frustration and becoming more pessimistic about their abilities. / sﬁr 3R 39ET

STATAT & Hay H Y HermaK & Sid gl

Correct Answer :-

« Conclude that failure is an indication of their incompetence, not a condition that
can be modified by learning or practicing. / Idg o~y SHepraer fF 3werar
3eTehl 3&THAT T Hehdl &, o T Ul [&ufa § o/ 3 & a
AT A H HAT F@r fohadm ST FeheTl Bl

18) Several tissues coordinate to give rise to a system. This is known as ./
$$ FdP, T YUl A SIoH &of & AT FH-aT S &1 390 T
# =T ST

1. Continuity / Taxdar

2. Integration / ThIhIOT

3. Specificity / faQrsdr
4. Differentiation / TA®iesT

Correct Answer :-

. Integration / ThTahoT

19) Which theory integrates principles explored by chaos, network, and
complexity and self-organisation theories? / l-HT ﬁ'afll'l?-l' TS dT, stedsh



3R SIfeerar va rer-weres Rqual garT @ier v RqHial F vhhd
T 87

1. Cognitivism / HaTeIlcHE
2. Connectivism / GAISTTdTG,
3. Behaviourism / cddgRdlq
4. Humanism / ATAddldIq

Correct Answer :-

. Connectivism / GATSTeTdIg

20) Which of the following is not a teaching skill in inclusive education? /

farafaf@a & @ sl gamaht R 7 v Rawor Fherer 736 82
1. Formative / T@&T0TcHS

2. Achievement / 3Tclfe¥

3. Summative / JN3McHb

4. Performance / 9&gTeT

Correct Answer :-

. Formative / fQATOITcHS

21) Which of the following types of parenting is least likely to benefit a child’s

development? / fA&ifaf@a 7 ¥ 59 Y9R & -9 § T2 F
e & a7 g A FHTEAT FEH FA 2

1. Permissive / 3-1@?41?\75

2. Uninvolved / 3rHSEY (aellcAs & & & ST §3M)
3. Authoritarian / EATATGT

4. Authoritative / 3TTTHIRS

Correct Answer :-

+ Uninvolved / 3EECY (HIG=AlcA® & & o 3T §3M)



22) Which of the following steps should be taken in order to develop creativity

in students? / BT A [WATCHS AT FHAT FA & T Aafaf@a & @
FiT T FSH 3IST AT TA1RT?

1. The teacher has to give freedom to respond. / f1&7& T gfafehar ¢ & fow
TadAdT Sl AR

2. The teacher should deliver lectures on the importance of creativity. / f2réTe @I
ITATCHS AT o Hgcd U SITEAT Sall dligU|

3. Students should be given opportunities to ask questions. / STdl I YT CI(\TW
& T 3rae garr =nfgul

4. Teacher himself should be creative. / {87 &I TaT T TATcHS glel

TRT|

Correct Answer :-

. The teacher has to give freedom to respond. / f1&T& T gfafehar ¢ & forw
= CECIN-CINC Y

23) Which is the final stage of Piaget’s theory of cognitive development? /

e & FaeenAs Remm & Rgua f sifad serar s @
1. Formal operation stage / 3i1qaTikeh Tfehar 31aedr

2. Pre-operational stage / ‘{r\a‘r-mm 3aEAT

3. Concrete operation stage / Fl(\?-‘f afepar 3raear

4. Sensorimotor stage / Tdqr 9T 3raTAT

Correct Answer :-

- Formal operation stage / 3{TqaTRe @fehar raear

24) Different parts of the body have / R & R %T\‘I’I' H Eﬂ?IT %’:
1. Sporadic development / %Eg? fara a1 Fér-Far faer

2. Uniform development / AT fasra

3. Different rate of development / fdhra & faffiest X

4. No development / PS5 TGhT A&



Correct Answer :-

. Different rate of development / fd&@ & faffieeT X

25) If 20 dots are put along a straight line or curve, we see them together ignoring the
gap between them. This follows which of Gestalt’s principle of perceptual organization? /

gl 20 fig Pl U AR Tap @& AY-ATY I ATCT 3 3R 0 I7P a1 & SR
DI AFTET Y THATY ST 3 | TT NTee & ATURUITHSD 6+ & e Rigia &1
STERUT T 82

1. Law of continuity / TEaXdr &1 e
2. Law of proximity / f[erear &1 faae
3. Law of closure / §aYOT &l T IH

4. Law of similarity / T€IdT &l fa T

Correct Answer :-

. Law of continuity / Taa<ar & faae

26) Teachers need to the needs of diverse group of student. / Rrersl #l sl &
fafay g o smazaearsii &1 DI JTaTIHaT 3

1. Take care of / €TeT T@aT
2. Orchestrate / ASTAT Fallet
3. Handle / 83T et

4. Deal with / HHSIAT Hlat

Correct Answer :-

. Orchestrate / ITSTaAT Saodlor

27) According to Jean Piaget, the process which involves changing our

existing schemas in the light of new information is known as ./ S
e & SER, 98 ufthar forad A8 IM®RI & USRI § §HR HISGl W T
DI SGTAT WA & & U H ST a1 g

1. Equilibration / 9TFT

2. Assimilation / ATcHIATINIU]



3. Organization/ HITSeT
4. Accommodation / 3TdIH

Correct Answer :-

« Accommodation / ATdIH

28) Which of the following is most crucial for children to learn to live in a

society?/mﬁﬁaﬁq aa‘raﬁwwﬁwﬁ%%q%ﬁ'@ﬁﬁ
9 Hgayyl 32

1. To work on individual tasks / IfFaera It W 1A LT
2. To work collaboratively / TgITIT & T el

3. To work for rewards /W?WWWT

4. To work in isolation / TehTd H ShTH el

Correct Answer :-

. To work collaboratively / T&J1eT & ST il

29) Which of the following can help the child to overcome failure in school? /
fFrafafeaa 4 3 o19-91 9= ! faearag o srwear $f R &3 | Heg IR
Tl 82

1. Asking them to Focus on next assessment / 3@ 3Tl i IR & dhigd HA
DI Dl

2. Motivating and encouraging them to emphasize on efforts over ability / &HdI 3|

31f¥es Tl R SR 1 & fol I8 URd =T 3R Uieaned &l
3. Giving them some free time for leisure / B% 3R & ﬁl’Q PS Qe 9T AT
4. Changing their section/Class / "L STJHIT/hET CAKS AN

Correct Answer :-

« Motivating and encouraging them to emphasize on efforts over ability / &HdI 3|

31 T IR OIR ¢ & forw I URd AT 3R Weifad

30) ’My test results show that | have an interest for sports but | do not have
stamina to play’; which of the following tests describes the above statement?/



W qfieror RomT AR F F A A A s T AT M aw e F
forT ggaafaa a8 & R=Rf@a & @ sl a1 eI sRiTT FAT F1
guie HaT &7

1. Aptitude Test/ 3-1'@7{% qT&ToT

2. Skill test/ ShiRrel GT&TOT

3. Achievement test/ 3TcITed] TT&TUT
4. Intelligence Test/ ga(ﬁr qT&ToT

Correct Answer :-

. Aptitude Test/ﬂ@ﬁj?f qT&ToT

Topic:- General Hindi (L1GH)

1) 35 fRae 31, 35 P 3, Tgd AR e §
N Q- T F
aredt ¥ e §

AT #7347 3@ at
W 3@ al, W @ at
el a1 dfeid @ ar
N g F A
AT [T e §

IE HeRMT AR I
W A, Afder ar
N AT, e N

faw, wel @ TaHT TS

fFY & g arger, g,
N wT ame §

354 G Flel ST’
ATT-ATT T IA-IS
3N PRl & AT =TT
W 3N § WA W



Y @a #, snafaalh
o 7
3YYFA ISHYT T YGHT AT qF S a1 WA FT 3cc} TARTI

weoT: e & @Y W o9 deued AR v g garee weer @t wia FEFem?
1. fraTeT fr gl

2. TEATA H digel

3. %g H WER

4. W H frame

Correct Answer :-

o THHATT H dICd

2) 33 fru 3, 35 fRae 3, T faw e §
N Q- WET F
aredt ¥ e §
AT T 741 3@ at
W 3@ al, W @ at
ol a1 dfeid @ ar
R gt F A

T T e §

IE HaRM AR I
W A, fide g
N T, sFa N

faw, wel @ TaHT TS

fFY & g arge, g,
N =T 3w §

354 G Flel TR
ATT-ATT T IA-IS
3N PRl & W =TT
W 3N § WA W

B @a A, srafFal



7
3YYFA ISHY T YGHT AT qF S a1 WA FT 3ca} TARTI

weeT: SER-3tR gl o 3@ Sreel ¥ FAr ¥ F4r v a §2
1. GX-3H1eT
2. STIT-S3
3. AT

4, Wd-9IR

Correct Answer :-

3) 33 fFaET 3, 35 P 3, aea @Y e §
N W WET F
aredt ¥ e §
AT T 147 3@ ar
W 3@ dl, W @ at
FTel a1 dfed @ ar
N gt F A

T [T e §

IE HaRMT AR I
W AR, fide warg
N T, wFa N

faw, wel @ TaHT TS

fFY & o arge, g,
N =T 3w §

354 G Flel STt
ATT-ATT FT IRA-IRSA F
3N PRl & W =qreT
&g 3N § Wl W

Y @a A, srafFald
o F



3YYFA ISHY T YGHT AT qF S a1 oA FT 3ca} TARTI

qeaT: gTdAlfh Wl & AT aildh AR U H STAATA glet ot §, BT off FuaT Ageq g
aE &R

1. golaTgl &l
2. 9TeAT T
3. Sell T
4, STRET &1

Correct Answer :-

o STIRET &7

4) 33 framer 3, 35 frae 3, e @K e §
N - |ET F
aredt ¥ e §
AT T 147 3@ ar
W 3@ d, W @ at
Flel a1 dfeisd @ ar
AN g FH RS
AT [T AT §

Ig HEAT AFT 3T
W Ay, fide e
N [T, Fa N

T, Fgl @ TawT TS

Y & o arger, g,
Grgord L

33 dTel HT STER
ATT-ATT FT IA-TRS FT
3N PRl & W =qTeT
&g 3N § Wl W

B @9 #, srafAaih



o F &

3YYFA ISHYT T YGHT AT qF S a1 WA FT 3cc} TARTI

Ye: dIge o9 9 W I AN @) FFAE F FAT dgAgeT dder?
1. ST

2. 3TaTeA

3.

4. ®€d

Correct Answer :-

5) 35 fra 3, 35 fRae 3, T faw e §
N Q- WET F
aredt ¥ e §
AT T 741 3@ at
W 3@ al, W @ at
ol a1 dfeid @ ar
R gt F A
AT T e §

IE HaRM AR I
W A, fide g
N T, sFa N

faw, wel @ TaHT TS

fFY & g arge, g,
N =T 3w §

354 G Flel TR
ATT-ATT T IA-IS
3N PRl & AW e
W 3N § WA W

B @a A, srafFal



o F &

3YYFA ISHYT T YGHT AT qF S a1 WA FT 3cc} TARTI

g digal o FuHr The aeY e @ §?
1. AT Fr

2. gar &r

3. AtgH &

4. PERT I

Correct Answer :-

6) 33 fFamr 3, 35 frame 3, T R e ¥
N Q- WET F
areft F 3o §
AT T 741 3@ at
W 3@ al, W @ at
ol a1 dfeid @ ar
R gt F A

T T e §

IE HaRM AR I
W A, fide @arg
N T, sFa N

fav, gl & TaH 3§

fFY & g arge, g,
N =T 3w §

354 G Flel TR
ATT-ATT T IA-IS
3N PRl & AW =TT
W 3N § WA W

B @a A, srafFal



o Fa &

3YYFA ISHYT T YGHT AT qF S a1 WA FT 3cc} TARTI

Uee: g @dl # HiA-ar T @ &2
1. fohehe

2. hegar

3. Rl

4. @fAdter

Correct Answer :-

7) 35 framer 3, 35 framer 3, T fw e §
N Q- WET F
arefy F 3o §
AT T 741 3@ at
W 3@ a, W @ at
ol a1 dfeid @ ar
AR gt F A &Y

T T e §

IE HaRM AR I

T AR, fide g
N T, sFa N

fav, gl & TaH 3§

fFY & g arger, g,
N =T 3w §

354 G Flel TR
ATT-ATT T IS
3N PRl & AW =T
W 3N § WA W

B @a A, srafFald



o F &

3YYFT ISHYT T YGHT AT qF S a1 WA HT 3cc} TARTI

TR: HHA T R T FAE $T FT g[F W 90 e 82
1. hdel T H I

2. %had d& & Fol

3. 3UF @l

4. Shael U HidST

Correct Answer :-

8) 35 fFumT 3, 33 fFurT 3, T A v §
N Q- WET F
aredt ¥ e §
AT T 741 3@ at
W 3@ al, W @ at
ol a1 dfeid @ ar
R gt F A
AT T e §

IE HaRM AR I
W A, fide @arg
N AT, sFa N

faw, wel @ TaHT TS

fFY & g arge, g,
N =T 3w §

354 9T Flel TR
ATT-ATT T IA-IS
3N PRl & AW e
W 3N § WA W

B @a A, srafFal



o 7
3YYFA ISHYT T YGHT AT qF S a1 WA FT 3cc} TARTI

wee: R 3 TS GO F HUN FA @ qT T@T 7
1. iR et aier g5 @

2. 38 q FIg gl

3. 2t A1 oS T A R

4, %Eer & fear ¥

Correct Answer :-

9) 33 fFurT 3, 35 fFu 3, aea @Y e §
N Q- WET F
aredt ¥ e §
AT T 14T 3@ ar
W 3@ al, W @
ol a1 dfeid @ ar
N gt F A

T T e §

IE HeRM AHT I
W A, fide warg
N AT, sFa N

faw, wel @ TaHT TS

fFY & o arger, g,
N =T 3w §

354 9T Flel TR
ATT-ATT X IA-IS
3N PRl & AW =T
W 3R § WA W

B @a A, srafFal



o Fa &

39T YGIIT P YGH A & AW aTel T FT 3ca} qaqrsv|
WeeT: 39 HfadT & fhAe & fFE a9 &1 IEa fFar =T #2
1. ST STl Sl

2. 3TGTelel &

3. 9 ST ST

4, arcT A I

Correct Answer :-

o SO STeT T

10) 33 fFuET 31, 35 fFaneT 3, age A e §
N Q- WET F
aredt ¥ e §
AT T 147 3@ ar
W 3@ @), W @ A
FTel a1 dfeid @ ar
AN g FH RS

T T e §

IE HaRMT AR I
W AR, fide @
N AT, 3Fa RN

faw, wel @ TaHT TS

Y & o arger, g,
N =T 3w §

354 G Flel STt
ATT-ATT FT IRA-IRSA F
3N PRl & AW e
&g 3N § Wl W

B @a A, srafFal
# F



3YYFA ISHY T YGHT AT qF S a1 WA FT 3ca} TARTI

TeT: R SR N U AT A A FT FE W TG GG 93T ¥?
1. i@ 9T

2. 1TeTgqEAT W

3. WHR W

4. f& 38t W

Correct Answer :-

o FITTEAT W

11) 35 fFaT 3, 35 a3, seer R e §
W Q- FET F
aredt ¥ e §
AT T 741 3@ at
W oW o), 3W & ar
FT 91 dfas 3@ a
R ot F o A
AT [T e §

Ig WA AHT 3T
W AR, fide arg
N AT, I RN

faw, et ¥ gawT IE

fhY & g arge, g,
N = e §

354 9T Flel TR
ATT-ATT FT IRA-IRSA FT
3N PRl & AW e
W 3N § WA W

Y @q A, srafFald
o T



3YYFA ISHIYT FT YGHT AT qF S I WA FT 3ca TAZTI
yeoT: fRaTel & gl-a WA 1 Wl FfY F B Fer 37
1. ARSI @l

2. Sl &l

3. 9MAT AT

4. STGAll T

Correct Answer :-

« SCell &Y

12) 33 fFAeT 3, 38 fFaET 3, 9 B e §

N - wET F

aredt ¥ e §

AT T a1 3@ at

W 3@ @), W @ A

FT 91 dfas 3@

A g FH RS

AT [T A §

Ig WA AHT 3T

W AR, fde Qe

N AT, 3Fa RN

faw, Fef ¥ TawT IE

fFY & o arger, g,
N = e §

359 g Fel TR
ATT-ATT F IRA-IRST
3N PRl & AW =qTe
&g 3N § Wl W

BT @a #, srafAath
o Fa

39YFA ISGHY Y GGHT Al & S a1 WA FT 3ca] TASTI



yeet: fhue & WA guerel AT @ el &7
1L.3S W

2. 3T TORLY U

3. 35T hEd I

4, 3T WHER

Correct Answer :-

o 3T BET I

13) 33 fFAeT 3, 35 fFanT 3, T R e §
N - |ET F
aredt ¥ e §
AT T 147 3@ ar
W 3@ a, W @ at
FTel a1 dfed @ ar
N gt F A &
AT [T A §

IE HeRT AHT I
wTE AYY, M e
N AT, Fa N

faw, Fef ¥ TawT IE

R & o arger, g,
N = e

359 g Fel TR
ATT-ATT F IRA-IRST
3N PRl & W =T
&g 3N § Wl W

BT @a #, srafAath
o Fa

39YFA ISGHY Y GGHT Al & S a1 WA FT 3ca] TASTI



weeT: {W AYT fiae arg At qeer AT Im$?
1. fopely &1 8T

2. STG T AIEe T

3. T¢T & AlgH #

4. G & AlGH

Correct Answer :-

14) 35 fFaT 3, 35 A 3, See AR e §
N - WET F
areft F 3o §
AT T 741 3@ at
W oW o), W & ar
FT 9 dfas 3@ a
N ot F o A

T T e

Ig HEAT AFT 3T
wTE AYY, M e
N AT, I N

forw, wgf ¥ o= g

fFY & o arger, 1,
N =T 3w §

35a dTel Flel T
ATT-ATT FT IRA-IRSA FT
3 PRl H A e
&g 3§ et W

Y ¥ #, srafFglsh
o wa §

39T YGIIT Y YGHF A qF A gl G FT 3ca} qaqrsv|



weeT: ¥ T w7 W ¢ B @ A RAF grEnr v fradlt gr & g w7 amde
1. AT

2. fopaTeT-aig

3. QaTS

4, Seferar

Correct Answer :-

15) 33 fFaeT 3, 35 fFanT 3, aea B e §
N F-N |ET F
aredt ¥ e §
AT T 147 3@ ar
W 3@ , W @ at
FTel a1 dfed @ ar
N gt F A
AT [T A §

IE HeRT AHT I
E AYY, M o
N AT, Fa N

faw, Fef ¥ TawT IE

fFY & o arger, g,
N = e §

359 g Fel TR
ATT-ATT F IRA-IRST
3N PRl & AW =qTe
&g 3N § Wl W

BT @a #, srafAath
o Fa

39YFA ISGHY Y GGHT Al & S a1 WA FT 3ca] TASTI



WT: I A YT g1 ¢ A frarer & v et srger e @ 2
1. fatgr o v

2. ASC AN &l

3. Teh ¥l Tsh ol

4, AEI M I

Correct Answer :-

e Uh BHA T I

16) e IU W B! Hed ¢ oiel uqE e frars & $f &1 #1781 811 81 5ia Hie &1
IedTe 3T ARI® B 7 6 3T o= enfdfes nifafafiral ) = fires @ <t =reRt @1 fawra gam
TER TURMT A F3 fafafir) &1 Fg §om #ed &; 9 AeHIfdd I, URMHHAS o9, ST 4, uifife
TR 3R g nfafafat| sieifre wifa & o e a1g it stz ufdnh 3= anfior ufedwr ama &
Y| f3eT 7 3 F 3ienfire 2l # 387 ara R @Rt unfior &= / ver_ 3% 3md A1 1750 3T
TGS SR I & §X A § | TP Afad dig | gl AT e TP I$T XER AT 51 B SRS
675,000 311 1810 | 1880 & 4 Tg B 10 T | TeH 40 T 81 TE; AAAT IR A1 & TS | TgT o
P13 goI Baedt 78t N1 TP ITaSE T USRI HIA aTal B YT HiSTe G HIaT ATI e b SIhaTS
T AR & HTH! AR A1 $HD ATl AN D) BUST, FQ, Aha!, BHlER, Hed, Fot-are, fHifT oiw
URre e | ot o firerar i

uYH Iy g (1914-1919) F IR wigd A PR R AP IATG! T 991 Y 3| T wigd A 8
PRAM] DI FAT §3 | $O IUI dla+ & q1¢, Ge T AR & Fd G| BT U ag1s 3778
PRGN T WS 4TI Ted eR P ATHR | 91t & 1Y g1 w1y § off geiadl g5 1 Uw oo &
IR 1870 & TP W T G H WU 20,000 HaRTeht g A1 o A >t ISR &1 et arar o1
FH T FF DI HIC AWRTY HA WA A1 $ IR g8 i giar o1 i frelt sram & w0 3a7 R o9 w4
P TG AURTY HIP Agax HHATS 81 ol A | T§ & IR 3 Afeanaii St Awt geft 75 | T afgeansit
B AT TR TR HA F o ORI & R & NPT 9= B B AoIgR g1 UST| FS Afgaraif 7 gav
P & o AT TR fHMA W AT 3% e &% TR9 g= 3t 399 AT 91U gRT $H WIR a1d T8 W)
I far T 3P 91¢ 1870 H FHIRY TSR Tae URT 31T 3R 1902 ¥ ol Uae urd gaimi 39
P! @1 Ueg A T8 I frar mar % o1 s= & sREF | S0 T HA1 US| Aial A 3= ard
STYATRITT & HRUT X | SATITH B TUWT IAF 1 715 | 3 ANl B e} 1 IHTY Bt aRE J ST
3t glaur a8t frerdt K1 ared gy (Rrevga & Stera @1fere) 7 1887 & tss 94 fran| 39 9d & garfas
deT § 10 919 9N TR &1 98 39 UG & e DI aId! BT 31 Wia=ma o7l

STYeR T B UGS 19 YD T T PT SR A15¢|
U 1870 & GRIF | dg & AT B |EAT fhat gtz
1. 10000

2. 50000

3. 11000

4, 20,000

Correct Answer :-



17) e 39 WM B Bgd ¢ oiel uqd e frarsi § $f &1 #1E = 781 g1a1 1 5ia Hie &1
IeTeA a1 ARI® B @ b 39w o anfdfes nifafafRry ot awd= frem @ ot =e”i &1 faera gam
X BN | F3 TAfARA} &1 Hg g3 B 8; WA ISP T, YR o, e 49, enfifer
TRTY 3R difge nfafaftrat stenfie wifa & o3 e arg it st ufznd 3= yrefior ufawr ara &t
Y| f3eT 7 I & 3ienfire 2el o 387 ara SR @Rt unfior &= / uema= 3% 3md A1 1750 3T
3T 74 3R A & & A1 & A TP AfRT wigH A Iga1 UTI TeT TP ST XER UT SET P oI-=ie
675,000 211 1810 | 1880 & T Tg- HI 10 T | TeH 40 A 81 TE; AAT IR A1 & TS | TgT o
PIs go! Baedt A8t N1 3TP ITaSE T AR HIA aTal B YT HiSTd §3M BT ATI de P SIhars
T AR & HTH TR A1 FAP AATAT AN B HUST, 9d, APa!, BAR, Aed, seifafa, fifér siw
e e | ot o firerar i

YH Iy g (1914-1919) F IRM v A BR R AR P IATE! T 99T I §3MTI Y wgd A 78
PRAM] DI FAT §3 | $O IUI dla+ & 916, G T AR &S $d G| BT U fag1s 3778
PRET T WG UT| Ted WeR P ATHR | 9eIast & 1Y TgT w1y § off geiadl g5 1 Uw o gu= &
SR 1870 & TP § I ST | TIHT 20,000 ARTH 35 A1 o AN Y A9R =87 frer urar un
aﬁﬁvéiﬁ%ﬁ%mumﬁwﬁﬁlﬁmwﬁﬁmm%ﬁmﬁﬁmﬁwwmﬁ
P TG AURTY HIP AgaR HHATS g1 ol A | g & IR 3 Afeanaii St Aot geft 75 | Tt afgensit
B AT TR TR HH F o ORI & R & NBT 9= B B AoIgR ST UST| FS Afgarsil 7 gav
P & o AT TR fHmA W AT 3% fhan| &% TR9 g= 3t 399 AT 914 gRT HH WIR 91 T W)
I T AT 3P 91¢ 1870 T FHEIR) TSR Tae URT 31T 3R 1902 ¥ o} Uae urd gaimi 39
P! @1 Ueg A T8 I frar mar % s s= & @M | &9 T $A1 US| Aial A 3 ard
STYATRIEY & HRUT e A ATAT B THET 3UH 81 75 | 37 AN D1 o] T ThTT $1 TG I M
3t glaur a8t fredt & ared gy (Rrevga & Stere @ifere) A 1887 ® ts 94 fban| 39 9d & garfas
e ¥ 10 9@ 9T TR A1 T8 39 YUY & TG DI SIS BT a1 Ufa=Td ATl

IUYE T BT UgH 14 IR T U= HT @R qad1s¢|
U IHENs wifd & 3 g a1g W siftreizr ufindt 3= forw afvawr & 22

1. HESTS
2. JrHOT
3. IR

4. FAETIR

Correct Answer :-

18) TMEY I W B $ed ¢ oiel yqd e fpareii  $R &1 ®1$ I 781 g1 81 oid Hie= 31
IeTe 3T TIPS B @ b 399 oy e nifafafRry ot awd= fre= @ at =e”i &1 faera gam
TR TURM A F3 TR BT g g3 HRA 8; O AoT-iad TT, GRS o, I 49, enfife
TRITE 3R Sife® wfafafirar | shenfire wifa F o3 e arg off sritreizr ufdndt 3= smfor ufvd=r ara &
q| fRT ° 3 & 3iefre 2Rl # 357 arat SRrewi=r @it unfior &5 | v $3 3 A1 1750 3T
3ATd AT 3R A & e A1 § | UP Ufrd wig & Tgdl UT| Tl Uh ST 6T 4T ST8f B S5
675,000 2ft| 1810 I 1880 & ¥IT Tig B 10 TG A T¢H 40 AT &l 7T5; HAAS IR 1 gl T5 | dgT |
P 91 baedt 781 At 3TF TTaNG e UAH B aTdl P YT AT g3 BT AT| e & Sidpars
T AR & BTHT AR A1 3HSP AATAl AR B BUST, o, dhSY, BHRR, Aed, geifafe, fiifdr oz
UfreT gege # o e firerar i

7YY f3Y T (1914-1919) F R de- § PR 3R sAfdedd ITG! T 9971 [T §3MTI T Ao A g8
PRET B YT §3| TS THY S & q1G, Ted H AR & $oI AW &1 T fagTs 37198
PREH! | Higg 4TI el eI & ATPR A Felast & 1Y Tl SRy § ff gt g3 | T U &
IR 1870 & TP W §H WG | WU 20,000 HARTeht ¥5d A1 o A >l ISR 81 et arar o1
I8 A B3 DI IS WRTY HIA A &1 F5 IR g8 W ghar o1 F freft vra™ & o0 397 R s o



Pt TATT AURTY HIP AgaR HATS g1 ol A | T§ & IR 3 Alearaii St Aot geit 75 | T Afgensit
B AT TR TR HH F o GIRI & R & NPT 9= B B AoIgR ST UST| S Afgarail 7 gav
Pl & R AT TR fHrd W AT 3 fban| &3 T I= @) 39 0T 919 §RT $H WIR a1 S W)
I T T 3P 91¢ 1870 H FHRY TSR Tae URT 31T MR 1902 H o} Tae urd gaimi 39
P! B1 Ueg A I8 I frar mar % o1 = & @ | &9 T $A1 US| ial A 3= ard
STYATRIET & HRUT e A ATaT B THET 30 8l 715 | 37 AN D1 o] 1 ThTT B TG I M
3t glaur a8t fedt 01 ared gy (Rrevga & Stera @ifere) A 1887 ® te 94 fban| 39 9d & garfas
deT § 10 919 @R TR &1 98 39 UG & e Dt aId! BT 1 Wia=ra o7l

STYeR T B UGS A1 YD T U PT SR A15¢|

U= I 1750 3MTd 3T $74S 3R I & foraq aafd diea o wga 42
1.GH H q Th

2.0 H ¥ UH

3.l H @ &

4, IR H ¥ &

Correct Answer :-

e A HA T TH

19) R I WU B Hed ¢ wal T e frareli & $iY &1 B wr 781 gia1 &1 §ia e &1
IeTe 3T TP T @ o ITw oy e nfafafRry ot awd= fre= @ at 2e”i &1 faera gam
TMER GURM A F3 AR BT Fg5 G I §; N Ao Iab T, RS o, SN 4, urfifes
TRTE 3R Sifge wfafafirat| shenfire wifa F o e arg o srftrei=r ufdndt = srfor ufvdsr ard &
q| T o 3% F 3ienfie et & ve7 ardt siftrei=r @i wmdfior & | vamaH w3 A1 1750 ma
3ATd AT 3R I & e A1 W | U Ufrd wig & Tgdl UT| -1 Uh ST X[6T 4T STgf B S5
675,000 2ft| 1810 I 1880 & ¥4 Tg B 10 TG A T¢HR 40 AT gl 7T5; HAAS IR T gl T5 | dgT &
P 931 baedt 781 At 3P TTaNG e UAH B aTdl P YT AT g3 BT AT| e & Sidpars
T AR & HTWY 3@aTR A1 TP AT AN DI BUST, A, AP, BHlER, Aed, Fonfafer, fifdr ez
freT gegie # o o firerar i

YT f3Y T (1914-1919) F R de § PR 3R sAfdedd ITG! T 9971 [T §3MT| T Ao A g9
PREM! D! YFIAT §3 | $O JHT dla1 & q1¢, e A AR F $d G| &I T fagrs 39 78
PREH! | Higg 4TI AT eI P ATHR A Felast & 1Y Tl SRy § ff TSIt g3 | U U &
IR 1870 & TP W §H WG | WU 20,000 HARTeR ¥gd A1 o A Bl ISR 81 et arar o1
I8 A B3 BIC IS WRTY HIA A &1 F5 IR g8 W ghar o1 F freft vre™ § o0 397 ® s o
P IO AWRTY HIP 95X PATS 81 od! A1 Tg P IR B Afgarst 1 N =elt 7 | Wi wfgensit
P YT TOR TR B3 F o Rl & W & AT aRa-T B B UoIgR ST USTI B3 Afgansit 3 gar
Pl & R AT TR P w31 3 fban| &3 T 9= B 39 0T 919 §RT $H WIR a1d S W)
I T T 3P 91¢ 1870 H FHER] TSR Tae URT 3T 3R 1902 H Haed} Tae urd gaimi 39
FIAI @1 Ueg A I8 I frar mar % s = & @ A S19 T HA1 US| Aial A 3= ard
STYATRIGT & HRUT AR A TAT BT THET IUH 81 715 | 37 AN D1 Baed! IT THIATT B GG I M
Pt gfaur a8t frerdt K1 ot gy (Revya & S Tifere) A 1887 ® ts U4 fran| 39 99 & garas
de § 10 919 @R TRI9 &1 98 39 AT & e Dt AT BT 1 Wia=ra o7l

IUYE TR B UgH A1 YD T U= $T Ik 9d13¢|
UR: WY s & <RI deT | o1 9911 = gam?
1. STl T S9ET

2. %R Ud Seolfdghel 3cUIG




3. MeAT-a1%G
4. g 3R el

Correct Answer :-

+ FR TF Solfdcehd 3G

20) e I I $I Hed ¢ 8l vga e frarsit & Sy o1 313 = 7 gar 81 91d Wie= &1
ITeA T AP T & o IF9 3= e nfafafery ot awd= fye= @ i 2e”i &1 faer gam
TTEX TN | B AT} BT H5 G B4 8; 9 AP T, WIS o, ST 49, enfifes
HRITY 3R Fifg® afafafimat| sienfire wifa & o3 axe a1 o siftrei=r ufih 3z grftor ufvawr o &
q| faRT # 3 & e 2eR) & 3g7 arat SRrewi=r @it unfior &= F vamras 3% 3md A1 1750 3T
T AT 3R I & e A1 W | U uferd wig & Tgdl UT| el Uh ST R8T 4T SIgT B S5
675,000 Y1 1810 ¥ 1880 & 1T dig P 10 AR A TEHR 40 ARI gl 7TS; HAAT IR 1 g1 T3 | G &
P13 I3t ot 78 N1 30 FTacg deT TaTa HIA aTal Pt G AT §IT BT YT e P SibaTS
T AR & HTH! AR A1 3HD ATl AN B) HUST, FQ, Ahat, BHRER, Aed, goifare, fHifEr iz
U gegie | ot e firerar Tl

YH fIy 9= (1914-1919) & IR wed A B 3R sAfReea TGl BT 99T Y Gl THA G A T3
PREM] DI YFAT §3 | $O JUT dla & J1¢, G A AR F Fd 3GHR| BT T g1 39 38
mﬁ‘rﬁﬁvﬁzmlWw$wﬁm%muWMHﬁmm§'§lwemﬁ%
YR 1870 & GRI& | 5 IMET A TUI 20,000 ARTER ¥gd &1 o G111 Bt AoNTR AT foret uram u1
Gﬂﬁﬁﬂa—éaﬁ%ﬁ%muaﬂﬁwﬁmﬁmwﬁﬁmm%ﬁwﬁﬁmaﬁwmmﬁ
B T AURTY BIP R HATS &1 STl N1 Yo b IR Fs Afeenal a1 Awd =elt 151 R afgenai
B 3TT TOR THR H1 & ol gOR) & W) AT aRa-T B &) Aoy g1 UST| B8 Afgarail 3 gav
Pl & R AT TR fHr W 3 3 foran| &3 TR 9= ®) 39 U1 919 §RT $H WIR a1d S W)
A T T 3P 91¢ 1870 H FHRR! TSR Tae URT T 3R 1902 H Haedt Tae urd gaimi 39
P Pt A A Tg G forar mar i i 9= & FREI T $TH 9 HIA1 US| Tal & 3 ard
STYATRIAY & HRUT e | SATITH B TUWT IAF 1 715 | 39 AN B Baed) a1 IHTY F G J ST
3t glaur gt frerdt K1 ared gy (Rrevya & st @1fere) A 1887 ® s 94 fharn| 59 9d & garas
de | 10 I @R TG A | U8 39 9HYT & de- P TAId! BT S Ufa=ra ATl

ST TR BT UgHR -1 TS TT YA BT Ik Jarsq|

7= fee ® g & oiieifie el ® 789 a1 it @ wet | uaras w1 S A
1. TATOT &7

2. IFRTGHT FHAT &

3. 39fAaet &

4. qdl IX9 &

Correct Answer :-

o AT &7

21) WEX 3U WM &) H8d ¢ oial uqE e frarsil § $ &1 $1 wr 78 g1 81 §ia Hied &1
IeTe a1 RIS B @ b 39w o anfdfes nifafafRry ot awd= frem @ ot =e”i &1 faera gam
Y BN | F AAfARA} &1 Hg g3 HA €; WY ISP I, TS o, e 49, enfifew
TRITE 3R difge nfafafiat| shenfie wifa & o2 axre arg i sftrei ufsnd 3= grhior ufiaw ae &
Y| f3eT 7 I F 3eNfire 2e) # 387 ara R @Rt unfior &= / vam_ 3% 3 A1 1750 3T
3T TS 3R I & g¥ N A A U afd A A IgdT UTI Ted TP ST e 4T S8l S S=H=T



675,000 2ft| 1810 I 1880 & ¥4 T B 10 TG A TEH 40 AT gl 7I5; HAAS IR T gl T5 | dgT &
P 931 baedt 781 At 3TF TTaNG ded UAH B aTdl P YT HiSTA g3 HIdT AT| e & Sidpars
T AR & BTHY AR A1 3HSP AATAl AR B BUST, o, dhSY, BHRR, Aed, geifare, fiifdr v

UfreT gege # o e firerar

Y f3Y T (1914-1919) F R de- # PR 3R sAfdedd ITG! 1§91 [ g3 T Ao A g9
PRET &1 Y3 §3| TS THY dia & q1G, Ted A AR & $o AW &1 U fagTs 37 98
PREH! | Higg 4TI Te-T eI P ATPR A Felast & 1Y Tl SRy § ff TSIt g3 1 T U &
IR 1870 & TP W T WG | WU 20,000 HARTeR ¥gd A1 o AT >l ISR 81 et arar o1
I8 q B3 BIC WIS WRTY HIA A A1 F5 IR g8 W ghar o1 F freft pre™ § o0 397 R o130 o
P IO AWRTY HIP 98X PATS 81 wd! M| Tg F IR B Afgarsit 1 A =elt 75 | Wi wfgeanait
P ST TR TR B3 F o Rl & W & AebT aRa-T B B UoIgR g1 USTI B3 Afgensif 3 gar
Pl & R AT TR fHrd W AT 3 fhan| 33 T 9= B 39 0T 919 §RT $H WIR a1d S W)
I T AT 3UF 91¢ 1870 H FHUER] TSR Tae URT 31T 3R 1902 H Haed} Tae urd gaimi 39
FIA! @1 Ueg A I8 I frar mar % s = o @ | &9 7 HA1 US| ial A 3= ard
STYATRIET & HRUT AR A ATAT BT THET IUH 8l 715 | 37 AN D1 o] T ThIATT B TG I M
¥t gfaur 78t frerdt K1 ot gy (Revya & Sere @ifere) A 1887 ® tsr 94 fbarn) 39 99 & garfas
deT § 10 919 @R TR 4| 98 39 UG & e DI aId! BT 1 Wia=ma o7l

ITYe TR BT UgHR 19 IR T U= HT IR gd15¢|

W TATI $IA 16l Bt YT HIT BI-HT MG AT BT UT?
1. foreset

2. AAAEN

3. SffFgH

4, olgat

Correct Answer :-

22) (e 39 WM B Fgd ¢ wigl uq@ e fparsi & $ &1 #1$ W= 78 gar 81 519 WieH &1
ITeA 3T TP T @ fh 399 oy e nfafafRry ot awd= fre= @ at 2e”i &1 faer gam
MY BN | B3 AAFARAY BT Hg g3 HA 8; 9 AP T, TR o, ST 49, enfifes
HRITE 3R Fifgs afafafimat| sienfire wifa & w3 <@ a1g ot siftrei=r ufieh 3z yftor ufvawr aa &
q| feT ® 3 & 3 2Rl & Yg7 arat ARG I=T @Rt unfior &5 | T $ 3 A1 1750 3T
3Ta ETAS 3R Aed & e Al § | U uferd wigT # T&dl UT| W Teh 98T XEX UT SIgl Bl SIS
675,000 271 1810 I 1880 F dIT T+ ®I 10 TG A B 40 AR gl TTS; Tdad IR I g TS| AT |
P13 T3 o 78 N1 30 Fracg deT Tar_ HIA aTal Pt G- AT g3 HRAT YT e P SIhaTS
T AR & STW 3EaWR A1 TP ATl A DI BUST, A, AP, BHlER, Aed, FoitareT, fifdr sz
e gegie # o o firerar i

YT f3Y T (1914-1919) F R de # PR 3R sAfdedd ITG! T 971 [ g3 T AT & g9
PREH B JFTd 3| PO GHT diaA & 916, T A IR & A TERI BT TP fagls 3799
PREM! | Hig 4TI el eI P ATHR A Felast & 1Y gl SR1y § ff TSIt g3 1 U U &
SR 1870 & TP | I SR | TIHT 20,000 AWRTH 35 A1 o TN Y AR A8 fre urar A1
I8 U B3 DI IS WRTY HIA A &1 F5 IR 98 W ghar o1 F freft vre™ § o1 397 w® o3 o
P IO AWRTY HIP 98X PATS 81 wd! A1 Tg F IR B Afgarsit 1 N =elt 7 | W wigenait
B AT ToR TR HIA F o IRT & R & NpT 9= B B Aoy g1 UsTI F$ Afgarail 7 gav
Pl & R 3T TR P W AT 3 fohan| 33 TR 9= @) 39 U1 919 §RT $H WIR a1d S W)
I T T ISP 1G 1870 H FHUER! TSR Tae URT 3T 3R 1902 H Haed} Tae urd gaimi 39
FIAL @1 Ueg A g8 I frar mar % s = o @ | ST9 T HA1 US| Aial A 3= ard
STYATRIGT & HRUT AR H TAT BT THET I 3l 715 | 37 AN DI Baed! T THIT B aRG I I



3t gfaur a8t frerdt K1 ot gy (Revya & Sere @ifere) A 1887 ® ts 94 fran) 39 99 & garas
de § 10 919 @R TRI9 41 98 39 AT & e DI aIS! BT 1 Wia=ra o7l

ITYeE TR BT UgHR 19 IR ¢ U= HT I«iX gd15¢|

U: fHdl FREM # $H 399 R HTH 1 B IOl T HIP 9ga? TS 8 ol A2
1. 3T

2. dGeT

3. 3R

4. e

Correct Answer :-

23) TMEX 39 WM ®I Hgd ¢ wigl uq@ i fparsii & $Y &1 #1$ w9 78 gar 81 519 WieH &1
ITeH 3T I g1 o fop S99 o= enfde nifafafr &1 wad frem o &Y =re”l &1 faw gam
MY TN | B3 AAfARAY BT Hg g3 HA §; 9 AP T, TR o, ST 49, enfifes
HRITE 3R Fifgs afafafimat| sienfire wifa & w5 e a1 ot siftrei=r ufih 3 grftor ufvawr aa &
q| foeT ® 3 & SieNfre 2Rl # Y57 arat ARG @1 unfior &5 | Tere $F 3 A1 1750 3T
3ATA ST 3R AeH & & A1 § | U uferd wigT # T&dl UT| W Teh 98T XEX UT STgf Bl S e
675,000 Y1 1810 ¥ 1880 & 17 dig P 10 ARG A TEHR 40 ARI &I TS; AAAT IR T[T 81 T5 | e |
P13 T3t o 78 N1 30 FTacg deT TaTa HIA aTal Pt G AT g3 BT UT| e P SibaTS
T IR & STW 3EaTR Y| TP ATl A DI BUST, I, AP, BHlER, Aed, FoitareT, fifdT oz
AR gege o ot 1 firerar am

YT f3Y T (1914-1919) F R deT # PR AR sAfdedd I T 9971 [T g3l T Ao A g9
PRET B JFAT 5§31 $O GHT diaA & 916, T A IR & A ORI BT TP fagls 3799
PREM! | Hivg UT| el e & ATHR F Felast & 1Y g1 SRy § ff TSIt g3 | th U &
YR 1870 & GR[& H 5T 6T H TUI 20,000 ARTER ¥gd &1 1 1 Hi AoNTR AT foret uram o1
I7H A F3 B IS AWRTY H1 WA A1 $3 IR g8 i 3lar o1 i freft srEm & o0 a9 R o1+
P IO AWRTY HIP 95X PATS 81 od! M| Tg F IR &S Afgarsit 1 N =elt 75 | Wi wigenait
B AT ToR TR HH F o RI & R & NpT S B B AogR g1 UsT| F$ Afgarsit 7 gav
Pl & R AT TR P W 3T 3 fovan| &3 TR 9= #) 39 0T 919 §RT $H WIR a1d S W)
@ T T ISP 91¢ 1870 H FHER! TSR Tae URT 3T 3R 1902 H Haedl Tae urd gaimi 39
FIHI @1 Ueg A g8 I frar mar % o a= & @] | STH 7 HA1 US| ial A 3= ardd
STYATRIAY & HRUI B | AR BT JHT IUHA 81 TS | 37 ANT o1 et a1 IHTY $ av% A A
3t glawr 7 et 5t 9red gy (Rravy@ & sigTe wifere) < 1887 ® s W4 fhaT| 59 99 & Galfa®
deA ¥ 10 A1E @ TR Y| I8 39 GHY & G DI ETG! BT a1 Uia=Td AT

UL TV H TP 2 TD MY U $T IR TG
U: XEX FANN A R T 4?2

1. %% afafafear & &g

2. geX

3. {s-9) 918

4. gO-8 SeTg

Correct Answer :-



24) TMER 39 I Pl Hgd 3 o8l vy i forarait & $Y &1 HIs = 181 gia1 81 919 Wi 31
IeTe 3T AFIF B @ b 399 oy e nifafafRry ot awd= frem @ ot =e”i &1 faerT gam
TR TURM A H3 ATl BT g g3 HRd 8; O AoT-iad TT, GRS o, I 49, enfife
TRITE 3R Sife® wfafafirar | shenfire wifa & o3 e arg o sritreizr ufdndt S=r smfor ufvd=r ara &
q| fRT ° 3 & 3iefre 2Rl & vg7 arat SRrwi=r @it unfior &5 | v $3F 3 A1 1750 3T
3ATd AT 3R AT & e A1 W | U Ufrd wig & Tgdl UT| Tl Uh ST X6T 4T ST8f B S5
675,000 2ft| 1810 I 1880 & ¥4 Tig B 10 TG A TEHR 40 AT gl 7T5; HAAS IR 1 1 T3 | dgT &
P 931 baedt 781 At 3TF TTaNG ded UAH B ardl P YT AT g3 HIdT AT| e & Sidpars
T AR & HTHT AR A1 3HSP AATAl AR B) BUST, o, dhSt, BHRR, Aed, geifare, fiifdr iz
URre e | ot e firear i

Y f3Y T (1914-1919) F R de- # PR 3R sAfdedd ITG! T I [ §3MTI T Ao & g9
PRET B YA §5| TS THY S & 916, Ted H AR & $oI AW &1 TP fagTs 371 98
PREH! | Hivg 4TI el eI P ATHR A Felast & 1Y el SR1y § ff gt §3 1 Ut U &
IR 1870 & TP W §H WG | WU 20,000 HARTeh 5 A1 o AT o1 ISR 81 et arar o1
I8 | B3 BIC IS WRTY HIA A &1 F5 IR g8 W ghar o1 F freft pre™ & o0 397 R s o
P IO AWRTY BB 95X HATS g1 ot A1 I F R B AfaArsii o1 A1t aelt 75 | T wfgenasit
P ST TOR TR B3 F o Rl & W & AT aRa-T B B UoIgR g1 USTI B3 afgensit ¥ gar
Pl & R AT TR P W 31 3 fhan| #3999 B 39 0T 919 §RT $H WIR a1d S W)
I T AT 3UF 91¢ 1870 B FHER] TSR Tae URT 3T 3R 1902 H Haed} Tae urd gaimi 39
FIA! @1 Ueg A I8 I frar mar % s = & @ | S0 T HA1 US| ial A 3= ard
STYATRIET & HRUT AR A ATAT BT TUET I 8l 715 | 37 AN D1 o] T ThIATT B GG I M
Ft glawr 7 fredt 5t aredd gy (Rravge & sigTa wifere) = 1887 ® s w4 fhaT| 397 99 & ganfa®
deT § 10 919 @R TRI9 &1 98 39 AT & e DI aId! BT 1 Wia=ra o7l

ITYe TR B Ugh 19 IR T U= HT Sk gd15¢|
UR: IR} TP Tae 9 3R Hadl Tae &a UTd gair?
1. 1890 3k 1852

2. 1870 3R 1902

3. 1880 3R 1872

4. 1885 3R 1905

Correct Answer :-

. 1870 3ix 1902

25) TMEX 39 WM ®I Fed ¢ wigl uq@ i fparsi & $ &1 #1$ w78 gar 81 519 WieH &1
IeTeA 3T TP T @ o 399 oy anfdes nifafafRry ot awd= fya= @ at =e”i &1 faer gam
TTEX TN | B3 AAfARAY BT Hg g3 HIA 8; 9 AP T, WIS o, ST 49, enfifer
HRITE 3R Fifgs afafafimat| sienfire wifa & w5 e a1g o siftrei=r ufih 3z yrftor ufvawr aa &
q| foeT ® 3 & 3iefe el & Yg7 arat ARG I=T @1 unfior &5 | T $ 3 A1 1750 3T
3ATa ST 3R Aed & &¥ A1 H & U uferd wigT # T&dl UT| W Teh S8 XEX UT SIgl Bl S eI
675,000 7| 1810 ¥ 1880 F dIT T ®I 10 TG A TGH 40 AR gl TTS; Tdad IR 1 g TS| AT |
P13 T3 o 78 N1 30 Fracg deT Tar_ HIA aral Pt GBI HiSTe g3 HRAT YT e P SihaTS
T AR & STWT 3aTR A1 TP ATl A DI BUST, A, AP, BHlER, Aed, Fontarer, fifdT eiw
e gegie # o o firerar i



YH fIy 9= (1914-1919) & IR ded A B 3R sAfReHd TGl BT I YT Gl TTA A A T8
PREM] DI YFAT §3 | $O JUT dla- & q1¢, G A AR F Fd G| BT T g1 39 78
PREH] | Hivg 4TI e e $ ATPR A Telast & 1Y el SR1y § off 7SIl g5 1 U SguH &
IR 1870 & TP W 5 WG W WU 20,000 aRTeht g A1 o A o1 ISR 81 et arar o1
I7H A B3 DI HIT AWRTY A T A1 F3 9K g8 Ht gia1 o1 i et sRE™ & o0 399 R &9 &4
P T SAURTY ISP SgaX HHTE 81 el N1 i b SR Ps ARea B1 At =elt 71| T Afgemail
B 3TT TOR THR B & ol gOR) & W) H AIpT e B &) Aoy g1 UST| B8 Afgarsif 3 gav
Pl & R AT TR fHr W 3 3 foran| 38 TR 9= &) 399 U1 919 §RT $H WIR a1d S W)
T T 11 3UF 91E 1870 W FHER! TSI Tae URT T 3R 1902 H Haedt Tae urd gaimi 59
P Pt A A I8 G forar mar i i g & FREI T HTH 9 HIA1 US| Tial & 3 ard
TYATRIAY & HRUT e | SATITH B TURT IAF 1 715 | 39 AN B Baed) a1 IHTY Ft aRE | ST
3t gfaur a8t frerdt K1 ared gy (Rrevya & s @ifere) A 1887 ® ts 94 fbanl 39 9d & garas
e H 10 9@ AN TR | T8 39 YUY & TG DI SIS BT a1 Ufa=Td ATl

ITY TR BT UgHR 1Y ID T U BT I«i¥ qaq13¢|
U Wed § F5l S HIH & AT 3fuU® A2

1. 5%

2. BIhATS

3. 3T

4. By

Correct Answer :-

26) WEY 3U WM &) H8d ¢ oial U@ e frarsii & $ &1 $1 wr 78 g1 81 5ia Hied &1
IedTe 3T ARIF g o 6 Iu o= enfdfes nifafafiral ) wwd= firem @ <t =reRt &1 fawra gom
TER TURMT A F3 Mfafaftr) &1 Fg §oim $ed &; 9 AeHIfdd I, URIHHAS o9, ST 4, uifife
TR 3R g wfafaftat| sieifire wifa & &% e a1g it stz ufdnh 3= unfior ufedwr ama &
Y| f3eT 7 3 F 3ienfire 2e) & 387 ara R @Rt unfior &5 / ver_ 3% 3md A1 1750 3T
TGS SR I & §X Al § | TP Afd digT | gl AT e TP I$T XER AT g1 Bt SRS
675,000 3ft1 1810 | 1880 & I Tg B 10 T | T¢HY 40 TR 81 TTE; AAAT IR A1 & TS | TgT o
P13 go! Baedt 7t N1 3TP ITaSE AT U HIA aTal B YT HiSTd G BT ATI e P SIhars
T AR & HTH! AR A1 $HD TGN AN B HUST, Fq, Ahat, BHTER, Hed, Font-are, fifET oiw
URre e | ot o firerar i

Uy f3Y & (1914-1919) & SR v # FR 3R sAfFedd IdTE! BT 41 YT 3| 3N Ao A 58
PRAM] DI FAT §3 | $O JUI dla & q1¢, G T AR &S Fd G| BT U fag1s 3978
PRET T Mg 4TI Ted WeR P ATHR | 9eIat & 1Y gl w1y § off geiadl g5 1 Uw o gu= &
IR 1870 & TP W T G H WU 20,000 uRTeht @ A1 o A >l ISR &1 et arar o1
IH A FE DI HIC AWRTY HA WA A1 $3 IR g8 i ghar o1 i frelt sram & w0 a7 R o9 w4
P TG AURTY HIP Agax HATS 81 ol A | g & IR 3 Afganaii St Awt geft 75 | Tt afgensit
B AT ToR TR H F o IRI & R & NpT 9T B B AoIgR ST UST| S Afgaraif 7 gav
P & o AT TR fHMA W <A1 3% fhan| &5 TRe g= 3t 399 AT 914 gRT HH WIR 91d T W)
I T T 3P 91¢ 1870 H FHIR) TSR Tae URT §31T MR 1902 H o} Uae urd ganmi 39
P! @1 Ueg A T8 I frar mar % o1 s= & @ | S0 T $A1 US| ial A 3= ard
STYATRITY & HRUT X | SATITH B THWT IAF 1 715 | 39 ANl B o) 71 IHTY Bt aRE | ST
3t glaur a8t fredt K1 ared gy (Rrevya & Sere @1fere) 7 1887 & ts 94 fbanl 39 9d & garfas
de § 10 919 @R TR &1 98 39 UG & e DI aId! BT 31 Wia=ma o7l

IUYT TN Bl UgH A1 YD T YA $T IR 9ars¢!



U=H: | 1750 H dgd @1 sae faa- A2
1. 345000
2.47500
3. 575000
4. 675000

Correct Answer :-

« 675000

27) TMER 39 I $t Hgd 3 o8l v i forarait & o &1 HIs = 181 gia1 81 91d Ui &1
IeTeA a1 AP B @ b 399 oy e nifafafRry ot awd= fre= @ at =e”i &1 faera gam
TR TURM A F3 TRl BT g g3 Hd 8; O Ao-Iad TT, TS o, I 49, enfife
TRITE 3R Sife® wfafafirar | shenfire wifa & o3 e arg o sritreizr ufddt 3= smdfor ufvd=r ara &
q| fRT H 3 & 3iefe 2Rl & vg arat SRrewi=r @t unfior &5 | v $3% 3 A1 1750 3T
3ATd AT 3R A & e A1 § | U Ufrd wig & Tgdl UT| Tl Uh ST X6T 4T ST8f B S5
675,000 2ft| 1810 I 1880 & ¥IT T B 10 TG A T¢H 40 AT gl 7T5; HAAS IR 1 g1 T3 | dgT &
P 931 Baedt 781 At 3TF TTaNG TeT UAH B aTdl P YT HiSTA g3 BT AT| e & Sidpars
T AR & BTHT AR A1 3HSP TGl AR B BUST, o, dhS}, BHRR, Aed, Feifare, fiifdr v
URre SegHe | ot o frear i

7YY f3Y T (1914-1919) F R de # PR 3R sAfdedd ITG! T 9971 [T §3MT| 3T Ao A g8
PRET B YT §5| TS THY S & q1G, Ted H AR & $oI AW &1 T fagTs 37 98
PREH! | Higg 4TI T eI P ATPR A Felast & 1Y Tl SR1y § ff TSIt g3 1 ' U &
IR 1870 & TP W T WG | WU 20,000 aRTeht g A1 o A o1 ISR 81 et arar o1
I8 | B3 BIC IS WRTY HIA A A1 F5 IR g8 W ghar o1 F freft pre™ & o0 397 R s o
P IO AWRTY BB 95X HATS g1 ot A1 T5 F R B AfaAraii d1 A1t aelt 75 | T wfgenasit
P SATAT TOR TR B3 F o Rl & W & AT aRa-T B B UoIgR ST USTI B3 Afgensif 3 gar
Pl & R AT TR fHrd w31 3 fban| &3 T 9= B 39 0T 919 §RT $H WIR a1d S W)
I T AT 3P 91¢ 1870 H FHUER] TSR Tae URT 31T MR 1902 H Haed} Tae urd gaimi 39
FIAI @1 Ueg A T8 I3 frar mar % o = & FREE! | S19 T HA1 US| ial A 3= ard
STYATRIET & HRUT e A ATAT BT TUET 30 8l 75 | 37 AN DI o] T ThIATT B TG I M
ot glawr 7 fredt 5t aredd gy (Rravge & sigTe wifere) 3 1887 ® s w4 fhar| 397 99 & ganfa®
deT § 10 919 @R TRI9 41 98 39 UG & e DI aId! BT 1 Jia=ra o7l

ST TR BT UgHR A1 I T YA BT Ik Ja1g¢|
W= {59 Hiet 1 SeureT g | el @1 fawre gam?
1. shaol Wedlesl

2. had AG-AS

3. %hdel Iy

4. 39qerT Tl

Correct Answer :-



e S I $I Hgd ¢ gl W AT fparait & $fY o1 $i1g w181 g1 81 919 Wi &1 Icure
a1 3t 811 @ 6 IO o e wifafafirat &t wwd= frem v ot =rex) &1 faer gam| =rex
RN | & TAfARA &1 Hg g3 B €; 9A ISP T, YRS o, SaT 4§, enfifer dwind
3R fifge nfafalrr sienfire wifa & o3 gxre a1g it siftreizr ufinh A=y anftor afivawr ara & 21
e O o & sienfie 2rel A 3 ara siftreri=r @it umftor & | uemas $3% 3mA A1 1750 3Ma 31
37As 3R A & T A ° A TP A e W Igdl 4TI de-T TP TS e YT SIET B S-™iS 675,000
2ft1 1810 ¥ 1880 F T T B 10 TR | TH 40 AR &1 TS; UAAd IR A1 81 T3 | e A IS a1
Bl T A | SUP qraS[g deT UARI R aTal B YRS WIS G BT AT 6ed &b SIHars | ISR
F PTB! TR A1 P SATAT RN B HUST, A, APSl, BreR, Hed, Fonfrare, fifdr ok R
s'gﬁtﬁmmﬁmml

YH Iy g (1914-1919) F IRM v A BR R AR P IATE! T 99T I §3MTI Y wgd A 78
PRAM] DI FAT §3 | $O IUI dla+ & 916, G T AR &S $d G| BT U fag1s 3778
PRET T WG UT| Ted WeR P ATHR | 9eIast & 1Y TgT w1y § off geiadl g5 1 Uw o gu= &
SR 1870 & TP § I ST | TIHT 20,000 ARTH 35 A1 o AN Y A9R =87 frer urar un
aﬁﬁvéiﬁ%ﬁ%mumﬁwﬁﬁlﬁmwﬁﬁmm%ﬁmﬁﬁmﬁwwmﬁ
P TG AURTY HIP AgaR HHATS g1 ol A | g & IR 3 Afeanaii St Aot geft 75 | Tt afgensit
B AT TR TR HH F o ORI & R & NBT 9= B B AoIgR ST UST| FS Afgarsil 7 gav
P & o AT TR fHmA W AT 3% fhan| &% TR9 g= 3t 399 AT 914 gRT HH WIR 91 T W)
I T AT 3P 91¢ 1870 T FHIRY TSR Tae URT 31T MR 1902 ¥ o} Uae urd gaimi 39
P! @1 Ueg A T8 I frar mar % o1 = & @ | 19 T HA1 US| ial A 3= ard
STYATRIY & HRUI WG | AR BT JHT IUA 81 TS| 37 AN &1 ot a1 IHTY $ av% F AT
3t glaur a8t fredt K1 ared gy (Rrevga & Stera @ifere) A 1887 ® ts 94 fban| 39 9d & garfas
e ¥ 10 91 9N TR A1 T8 39 YUY & TG DI SIS BT a1 Ufa=Td ATl

ST TR HT UgHR 1Y ID T YR BT I«i? Ja1g¢|

U: ¥ 1810 & 1880 d19 deH1 ot SHE® fhae & Fgd bl g1 152
1.5 @ ¥ 10 &g

2.20 o@ ¥ 30 oM@

3.10 oM@ ¥ 40 &@

4.40 9@ ¥ 80 9@

Correct Answer :-

e 10 9@ ¥ 40 oM@

29) TEY 39 WM $! Hgd & el vq@ e fharait & oY &1 $1 wr= 7€ gar1 81 e Hie &1
IeTe 3T TIPS B @ b 399 oy e nifafafRry ot awd= fre= @ at =e”i &1 faera gam
TR TURM A F3 TR BT g g3 HRA 8; O AoT-iad TT, GRS o, I 49, enfife
TRITE 3R Sife® wfafafirar | shenfire wifa F o3 e arg off sritreizr ufdndt 3= smfor ufvd=r ara &
q| fRT H 3 & 3efre 2Rl & vg arat SuRrewi=r @it unfior &5 | g $3 3 A1 1750 3T
3ATd SRS 3R I & e A1 § | UP frd wig & Tgdl UT| T Uh ST X6T 4T STgf B S5
675,000 2ft| 1810 I 1880 & ¥IT Tig B 10 TG A T¢H 40 AT &l 7T5; HAAS IR 1 gl T5 | dgT |
P 91 Baedt 781 At 3TF TTaNG e UAH B aTdl P YT HiSTA g3 BT AT| e & Sidpars
T AR & HTHY AR A1 3HSD AATAl AR B BUST, o, dhSt, BHRR, Aed, geifare, fiifdr v
UfreT gege # o e firerar i

7YY f3Y T (1914-1919) F R de-T § PR 3R sAfdedd ITG! T 9971 [T g3 T Ao A g9
PRETH B YT §5| TS THY S & q1G, Ted H ISR & $oI AW &1 T fagTs 371 98
PREH! | Higg 4TI el eI & ATPR A Felast & 1Y Tl SRy § ff gt g3 | T U &
IR 1870 & TP W §H WG | WU 20,000 HaRTeht ¥gd A1 o AT >l ISR 81 et arar o1
I8 | B3 BIC WIS WRTY FIA A &1 F5 IR g8 W ghar o1 F freft prRe™ & o0 397 R s o



Pt TG AURTY HIP AgaR HATS g1 ol A | T§ & IR 3 Afearaii St Aot geit 75 | T Afgensit
B AT TR THR HH F o1 ORI & R & NPT 9T B B AoIgR g1 UST| FS Afgaraif 7 gav
Pl & R AT TR fHrd W AT 3 fban| o3 T 9= B 39 0T 919 §RT $H WIR a1 S W)
I T AT 3P 91¢ 1870 H FHERY TSR Tae URT 31T MR 1902 H o} Tae urd ganmi 39
FIA! @1 Ueg A I8 I frar mar % s a= & FREFE! | &9 T HA1 US| ial A 3= ard
STYATRIET & HRUT e A ATAT B THET 30 8l 715 | 37 AN D1 o] T ThTT B TG I M
3t glaur a8t fedt K1 ared gy (Rrevga & Stere @ifere) 7 1887 ® ts 94 fbarn| 39 9d & garfas
de § 10 919 @R TRIS &1 98 39 UG & e DI aId! BT 1 Wia=ra o7l

STYeR T B UG A1 D T U PT SR I8¢
U: de- XMER 31 PR e | i 9w & geiadt g32
1. 3

2. 3cqTGsT

3. 390y

4. AT

Correct Answer :-

30) TEY IY W P! $gd ¢ oiel uq@ e fparsi § iy &1 18 U 78 a1 81 o1d Hie &1
IeTe 3o TP B @ fh 399 oy e nfafafRry ot gwd= fre= @ at 2e”i &1 faerT gam
TTEX TURM A F3 TN BT g G PR o; O JAoT-Had TT, GRS o, I 49, anfife
TRTE 3R Sifge wfafafirai| shenfie wifa F # e arg o srftrei=r ufdndt = srfor ufvdsr ard &
q| foeT ® 3 & 3iefie 2Rl & 357 arat SRrwi=r @t unfior &5 F T $3F 3 A1 1750 3T
3ATd AT 3R I & e A1 W | U Ufrd wig & Tedl UT| -1 Uh ST X6T 4T SIgf B S5
675,000 2ft| 1810 I 1880 & ¥4 Tg B 10 TG A TEHR 40 AT gl 7T5; HAAS IR T gl T5 | dgT |
P 931 baedt 781 At 3TF TTaNG ded UAH B aTdl P YT AT g3 BT AT| e & Sidpars
T AR & HTWY 3aTR A1 TP ATl AN DI BUST, A, AP, BHlER, Aed, Fonfafer, fifdr aiw
frer gegie # o o firerar i

YT f3Y T (1914-1919) F R de # PR 3R sAfdedd ITG! 1§91 [T g3 3T Ao A g9
PREM! DI JFIAT §3 | $O JUT dla1 & q1¢, e A AR F $d 3GHR] &1 T fagrs 39 78
PREH! | Higg 4TI el eI P ATPR A Felast & 1Y Tl SRy § ff TSIt g3 | U U &
JUR 1870 & TP W §H WG | WU 20,000 HARTeh ¥gd A1 o AT 1 ISR 81 et arar o1
I8 W B3 BIC WIS WRTY HIA A A1 F5 IR g8 W ghar o1 F freht pre™ ¥ o1 397 ® S0 o
P IO AWRTY HIP 98X PATS 81 od! A1 Tg P IR B Afgarst 1 N =elt 7 | Wi wigemsit
P AT TOR TR B3 F o Rl & W & AT aRa-T B B UoIgR g1 USTI B3 afgensif ¥ gar
Pl & R AT TR P w31 3 fban| &3 T 9= @) 39 0T 919 §RT $H WIR a1d S W)
I T T 3P 91¢ 1870 H FHER] TSR Tae URT 3T 3R 1902 H Haedl Tae urd gaimi 39
FIAL @1 Ueg A I8 I frar mar % o = & @ | &9 T HA1 US| ial A 3= ard
STYATRIGT & HRUT R A TA BT TUET IUH 8l 75 | 37 AN D1 Baed] IT ThIATT B aRG I M
Pt gfaur gt frerdt K1 ot gy (Revya & S @1fere) A 1887 ® ts U4 fban| 39 99 & garas
deT § 10 919 9N TRI9 41 98 39 UG & e DI AT BT 1 Wia=ra o7l

ITYe TR B UghR 19 IR T U= HT I«iX gd15¢|

UL IR o1 uqd e fpanai # feaer aimer =8 gar?
1. X I

2. 35T



4, ST

Correct Answer :-

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

The Ottoman Empire, created by the Turkish tribes in Anatolia was one of the most powerful
states in the world between the 15th and 16th century. The Ottoman period spanned more than
600 years and came to an end only in 1922. It was then replaced by the Turkish Republic and
successor states in south-eastern Europe and the Middle East. At its peak, the empire
encompassed most of south-eastern Europe. Portions of the Middle East and large parts of the
Arabian Peninsula and North Africa. The term Ottoman is a dynastic title which is derived from
Osman I (Arabic: ‘Uthman), the nomadic Turkmen chief who founded both the dynasty and the
empire. The traditions of the Ottomans were incorporated from the regions they conquered and
added a new dimension to them. Numerous cultural traits such as architecture, cuisine, music,
leisure and government were adopted by the Ottoman Turks, who elaborated them into new
forms, resulting in a new and distinctively Ottoman cultural identity. Another distinct
characteristic of the Ottoman elite culture was the intercultural marriages

In the passage, spanned over means:
1. Bridged across

2. Lasted for

3. Comprised

4. Enclosed

Correct Answer :-

e Lasted for

2) Read the passage carefully and answer the question given below:

The Ottoman Empire, created by the Turkish tribes in Anatolia was one of the most powerful
states in the world between the 15th and 16th century. The Ottoman period spanned more than
600 years and came to an end only in 1922, It was then replaced by the Turkish Republic and
successor states in south-eastern Europe and the Middle East. At its peak, the empire
encompassed most of south-eastern Europe. Portions of the Middle East and large parts of the
Arabian Peninsula and North Africa. The term Ottoman is a dynastic title which is derived from
Osman I (Arabic: ‘Uthman), the nomadic Turkmen chief who founded both the dynasty and the
empire. The traditions of the Ottomans were incorporated from the regions they conquered and
added a new dimension to them. Numerous cultural traits such as architecture, cuisine, music,
leisure and government were adopted by the Ottoman Turks, who elaborated them into new
forms, resulting in a new and distinctively Ottoman cultural identity. Another distinct
characteristic of the Ottoman elite culture was the intercultural marriages



According to the passage, we come to know that the Ottomans were very influential because:
1. they created a unique and distinct cultural identity in all fields only

2. they initiated marriages among different cultures of people only

3. only their empire became one of the most powerful states in the world then

4, All of the above

Correct Answer :-

¢ All of the above

3) Read the passage carefully and answer the question given below:

The Ottoman Empire, created by the Turkish tribes in Anatolia was one of the most powerful
states in the world between the 15th and 16th century. The Ottoman period spanned more than
600 years and came to an end only in 1922, It was then replaced by the Turkish Republic and
successor states in south-eastern Europe and the Middle East. At its peak, the empire
encompassed most of south-eastern Europe. Portions of the Middle East and large parts of the
Arabian Peninsula and North Africa. The term Ottoman is a dynastic title which is derived from
Osman I (Arabic: ‘Uthman), the nomadic Turkmen chief who founded both the dynasty and the
empire. The traditions of the Ottomans were incorporated from the regions they conquered and
added a new dimension to them. Numerous cultural traits such as architecture, cuisine, music,
leisure and government were adopted by the Ottoman Turks, who elaborated them into new
forms, resulting in a new and distinctively Ottoman cultural identity. Another distinct
characteristic of the Ottoman elite culture was the intercultural marriages

Who replaced the Ottoman Empire after 19222
1. Middle East rulers

2. Osman |

3. Turkish Republic

4, Turkish tribes

Correct Answer :-

o Turkish Republic

4) Read the passage carefully and answer the question given below:

The Ottoman Empire, created by the Turkish tribes in Anatolia was one of the most powerful
states in the world between the 15th and 16th century. The Ottoman period spanned more than
600 years and came to an end only in 1922, It was then replaced by the Turkish Republic and
successor states in south-eastern Europe and the Middle East. At its peak, the empire
encompassed most of south-eastern Europe. Portions of the Middle East and large parts of the
Arabian Peninsula and North Africa. The term Ottoman is a dynastic title which is derived from
Osman I (Arabic: ‘Uthman), the nomadic Turkmen chief who founded both the dynasty and the
empire. The traditions of the Ottomans were incorporated from the regions they conquered and



added a new dimension to them. Numerous cultural traits such as architecture, cuisine, music,
leisure and government were adopted by the Ottoman Turks, who elaborated them into new
forms, resulting in a new and distinctively Ottoman cultural identity. Another distinct
characteristic of the Ottoman elite culture was the intercultural marriages

What is the origin of the title ‘Ottoman’?

1. The title was derived from Arabic word Uthman
2. The title was given by the village monk

3. It was named after an ancestor

4. It was absorbed from the regions they conquered

Correct Answer :-

¢ The title was derived from Arabic word Uthman

5) Read the poem carefully and answer the question given below:

Flight to Imagination

Soar oh mighty bird! Spread your wings and fly
Explore virgin lands unspoilt by humankind.
Rest awhile beside the perennial river:

That gives nectar-like crystal clear coolness

To heatened up parched minds.

Sleep in the bamboo grove:

Known to give lessons towards enlightenment
To a silent, receiving, open mind...

Fly back to me and recount

The never-ending chronicles of the wanderings thine.
And then.........

Fly away again to a new destination

Forgotten by cartographers to put on the map.

“Explore virgin lands ....... " The words in bold describe a place
1. where young women stay
2. which is pure

3. which is unexplored



4. which is newly developed

Correct Answer :-

« which is pure

6) Read the poem carefully and answer the question given below:

Flight to Imagination

Soar oh mighty bird! Spread your wings and fly
Explore virgin lands unspoilt by humankind.
Rest awhile beside the perennial river:

That gives nectar-like crystal clear coolness

To heatened up parched minds.

Sleep in the bamboo grove:

Known to give lessons towards enlightenment
To a silent, receiving, open mind...

Fly back to me and recount

The never-ending chronicles of the wanderings thine.
And then.........

Fly away again to a new destination

Forgotten by cartographers to put on the map.

“Thine” is the old English formof_
1. we

2. therefore

3. to you

4. yours

Correct Answer :-

* yours

7) Read the poem carefully and answer the question given below:

Flight to Imagination



Soar oh mighty bird! Spread your wings and fly
Explore virgin lands unspoilt by humankind.
Rest awhile beside the perennial river:

That gives nectar-like crystal clear coolness

To heatened up parched minds.

Sleep in the bamboo grove:

Known to give lessons towards enlightenment
To a silent, receiving, open mind...

Fly back to me and recount

The never-ending chronicles of the wanderings thine.
And then.........

Fly away again to a new destination

Forgotten by cartographers to put on the map.

“Soar oh mighty bird! Spread... fly”. The figure of speech is:
1. Metaphor

2. Personification

3. Exclamation

4, Alliteration

Correct Answer :-

¢ Exclamation

8) Read the poem carefully and answer the question given below:

Flight to Imagination

Soar oh mighty bird! Spread your wings and fly
Explore virgin lands unspoilt by humankind.
Rest awhile beside the perennial river:

That gives nectar-like crystal clear coolness

To heatened up parched minds.

Sleep in the bamboo grove:

Known to give lessons towards enlightenment

To a silent, receiving, open mind...



Fly back to me and recount

The never-ending chronicles of the wanderings thine.
And then.........

Fly away again to a new destination

Forgotten by cartographers to put on the map.

The synonym for unspoilt is:
1. New

2. Unharmed

3. Decomposed

4. Damaged

Correct Answer :-
e Unharmed

9) Read the sentence carefully and choose the option that has an error in it:

Deepa and Rani love chocolates but their brothers do not like them.
1. No error

2. Deepa and Rani love chocolates

3. do not like them.

4. but their brothers

Correct Answer :-
e No error

10) Fill in the blank with the correct option in the given sentence:

Some people feel that parents are the best _____ for their children.
1. instructive
2. instructor
3. instructors

4. instructions

Correct Answer :-



e instructors

11) Fill in the blank with the most appropriate preposition in the given sentence.

The light hangs ___ the dining table.
1. over

2. between

3. front of

4. along

Correct Answer :-

12) Choose the most appropriate determiner in the given sentence.

Can you see boys up on the hill?
1. that

2. all

3. those

4, these

Correct Answer :-

¢ those

13) Fill in the blank with the correct option in the given sentence:

During the mid 1800’s many people joined the --slavery movement.
1. pre—

2. anti—

3. post—

4, ante —

Correct Answer :-



14) Choose the right tag:

Most women are afraid of ghosts, ?
1. isn't they

2. aren't they

3. are they

4. don't they

Correct Answer :-
e aren't they

15) Change the given statement to indirect speech.

Ram said, "The pyramids in Egypt are one among the seven wonders of the world.”
1. Ram said that the pyramids in Egypt was one among the seven wonders of the world.

2. Ram said that the pyramids in Egypt are one among the seven wonders of the world.

3. Ram said that the pyramids in Egypt is one among the seven wonders of the world.

4. Ram said that the pyramids in Egypt were one among the seven wonders of the world.

Correct Answer :-
» Ram said that the pyramids in Egypt are one among the seven wonders of the world.

16) Choose the appropriate prepositions for the given sentence:

Many young boys run away their homes and go a big city when their parents scold
them some reason.

1. into, at, for
2. to, in, for
3. from, at, from

4. from, to, for

Correct Answer :-

o from, to, for



17) Choose the appropriate antonym for the highlighted word in the given sentence.
The technician has to fix the switchboard.

1. Break

2. Repair

3. Brake

4. Damage

Correct Answer :-

18) Choose the appropriate conjunctions for the given sentence:

Living in a village is uncomfortable the lifestyle will be healthy of the
purity in nature.

1. but, because
2. and, because
3. however, still

4. besides, but

Correct Answer :-

e but, because

19) Choose the appropriate suffix to fill in the blank.

Very soon, his acting career sank to medio--.

1. --cration
2. --crous
3. --cre

4. --crity

Correct Answer :-

20) Choose the appropriate pronouns for the given sentence.

Being an only child ’ understood very early the importance of good
friends.




1. himself, his
2. herself, her
3. herself, she

4, yourself, he

Correct Answer :-

¢ herself, she

21) Choose the appropriate option that rewrites the given sentence in its active voice.

You were presented a gift by me.
1. | presented a gift to you.

2. The gift is given to me by you.

3. I was given a gift to me by you.

4. You were given a gift to me.

Correct Answer :-
» | presented a gift to you.

22) Choose the appropriate tense to fill in the blanks in the given sentence :

We to a movie yesterday after we in the afternoon.
1. went, had lunch

2. had gone, had lunch

3. have gone, have lunch

4. will go, will be having lunch

Correct Answer :-
e went, had lunch

23) Choose the appropriate synonym for the highlighted word in the given sentence.

There has always been an interest in geniuses and prodigies.
1. Intellects

2. Dullards



3. Mentally retarded

4, Highly talented

Correct Answer :-
« Highly talented

24) Choose appropriate articles for the given sentence:

Godavari is one of largest river in South India.
1. The, the, the
2. The, the, no article required
3. An, a, no article required

4. No article required, an, a

Correct Answer :-
» The, the, no article required

25) Choose an appropriate modal for the given sentence:

India not have become an independent nation without the efforts of the freedom
fighters

1. should
2. can
3. could

4, shall

Correct Answer :-
e could

26) Choose the option that substitutes the given phrase appropriately.
A person who is fluent in many languages

1. Monolingual

2. Trilingual

3. Polyglot

4. Bilingual



Correct Answer :-

27) Choose the option that best explains the highlighted expression:

This computer has an edge over other models, because it has such a huge hard drive.

1. is better than

2. slightly changed
3. is worst

4. is inefficient
Correct Answer :-

¢ s better than

28) Choose the option that best explains the highlighted expression:

I wish I could weave my magic and get things back in order.
1. to cast a spell on somebody

2. to make something easy

3. to make something difficult

4. to make something or somebody behave in a particular way

Correct Answer :-
* to make something or somebody behave in a particular way

29) Choose the option that best transforms the sentence into its Indirect form:

He asked her, "Where do you work?”

1. He asked her as to where she was working.
2. He asked her about where she worked.

3. He asked her where she had worked.

4. He asked her where she worked.

Correct Answer :-



e He asked her where she worked.

30) Which of the given options best combines the given sentences?

It rained heavily all of last week. The dam is facing a threat.

1. It rained heavily all of last week; therefore, the dam is facing a threat.
2. It rained heavily all of last week, though the dam is facing a threat.

3. It rained heavily all of last week as the dam is facing a threat.

4. It rained heavily all of last week because the dam is facing a threat.

Correct Answer :-

« It rained heavily all of last week; therefore, the dam is facing a threat.

Topic:- Science (SCI)

1) A creative teaching method to introduce kids to the world of science with fun, like basics of
astronomy, biology, physics, earth science, etc. is:

AR & W R{ae #1 gfaam & s=ai # @y WA ;A vF T@arens [ator
faft, S & @oer R, Sha e, sifadh, gedt e anfe, ot &

1. Science Exhibitions / a3l weifaar
2. Science Games / Tl @l

3. Science Fairs / faaTeT Hel

4. Science Songs / TaareT INa

Correct Answer :-

« Science Songs / faaeT 3T

2) Who gave the model of “Cone of Experience”? /
"I IHE TFHNRGE" FT Ase Faa 4w g
1. Burton / Sc¢eT

2. James S. Kinder / S1&® wH. fHsT

3. Edgar Dale / USIR 3ol

4. Carter V. Good / &IeY dl. U;I'g



Correct Answer :-

« Edgar Dale / USIR 3o

3) Developmental Psychology is studied by other scientists, Except for:/

faFraTers AT v 1 sisat 3w dafas! qarT sreawsr fFar e &
1. Anthropologists / FTAd AAT (TUAATTES)

2. Biologists/ Sia@ AT (STATlTToIET)

3. Physicians / #ifas faamer (efererae)

4. Physicists / #ilfde faq (Thiafaaee)

Correct Answer :-

. Physicists / #ifde fag (RfafaTEe)

4) What is one method of transferring information from short term to long term memory? /

TY-Frel § Q-Freller T A gaar UEaRa & # oF {3 7w
1. Rehearsal / 3\3‘(9-'411?:[

2. Decaying / 9del

3. Delaying / faeredr

4. Chunking / afehar

Correct Answer :-

« Rehearsal / q@‘r&‘am

5) What is the smallest unit of speech known as? /
$TYUT Y FaX B SHE Y FAT Hgl AT 82

1. Morpheme / & (HTHf)

2. Word / 2sg; (T3)

3. Syntax / drFg-Td=arg (RAcaa)

4. Phoneme / TAfAH (ThleTed)

Correct Answer :-

« Phoneme / ¥ATAH (TIeTFH)



6) Permanent hardness of water is due to: /

ST T TARN FSRAT FT HRT ¢
1.CaCO3

2. Mg(NO3 )2
3. MgCl

4, N82C03

Correct Answer :-

. MgCI2

7) Three forces 20N, 30N and 50N are acting on a body placed on the
horizontal plane. Here, the 20N and 50N are acting towards left and 30N is
acting in the opposite direction. Now the resultant force acting on the body
is: /

TF AT FATT W @ TF A& 9T 20N, 30N 34X 50N & i T o9ra &1 20
N 3k 50 N, 91T 3R o<ra § 3R 30 N Rudig Fam & o9 &1 PAe™ W e arer
qRoTHY g fraer €72

1. 40N towards right / @ 3R 40 N

2. 40N towards left / 91T 3R 40 N

3.40N in the downward direction / =i &r 31X 40 N
4. 100N towards left / STT 3ik 100 N

Correct Answer :-

« 40N towards left / §TT 31X 40 N

8) Ultra microscope is set up based on which property of colloids. /
3oL ATHIERT Flarss & fFE 0T F 3MUR W e B = g

1. Brownian movement / s3faaer aifa

2. Tyndall effect / f&ser woTa

3. Electrophoresis / degcehoT Hlelsl

4, Coagulation / StHTG

Correct Answer :-



. Tyndall effect / &seT 9T

9) is not an organic acid. /
 UF yeMfas IF dE g
1. Oxalic acid / 3MeFaifereh 31Fcl

2. Acetic acid / Tfafes 31Far

3. Formic acid / ®ifde 315

4. Carbonic acid / &efas 31Fd

Correct Answer :-

. Carbonic acid / Fefas 31Fd

10) is the only mode of heat transfer which doesn’t require a
material medium. /

UHAT FEAT FAAEOT FT aiiF § A awnlt aegd ft sraeasdar a8
gl 21
1. Convection / gdgsl
2. Heat pumping / 3SAT 9f&qer
3. Conduction / dTefsT
4. Radiation / fafaor

Correct Answer :-

« Radiation / fafaor

11) If the amplitude of vibration is increased to three times of its initial value,
then the loudness of sound will: /

IfE FIT F HAH A 3WF IREAF Aed F i o1 d& o1 m amar g, ar eafa
T ggIdr ghen:

1. be doubled / & =

2. be six times of its original value / {0 dRdfde T BT BT
3. become three times of its original value / 30 dRdfd® A BT I AT
4. become nine times of its original value/ 370 aRAfdd W &1 A AT

Correct Answer :-



- become nine times of its original value/ 3= AR HH &7 A1 AT

12) |n an electrical cell , the energy is stored as:
% fagga A« A, Fo F W T A WA AT S @
1. Charges / 3mmaeit

2. Heat energy / FSAT 3ol

3. Chemical energy / J@ATIS 3ol

4.Nuclear energy / 9THIT] Zsit

Correct Answer :-

« Chemical energy / IS Fair
13) Select the statement which is not true: /
38 FYA FT IIT FY oI T gl &

1. Sound travels faster in metal than in air. / &afa, arg T 3719&T o1 H sl &
T Y B

2. Sound can be easily propagated through vacuum. /
fAaTa & Ay @ eafe 3maE § gaiRa & a7 g g

3.Sound can be produced by the vibrating air column. / €afs, &9eT gaT TN
GaRT 3cdTicd fhaT ST HehdT &l

4. Sound can be propagated through any medium. / Tt +ff AregH § &af= S 9
TIRE 1 S Tt g |

Correct Answer :-

« Sound can be easily propagated through vacuum. /

faTd & AtegA ¥ eafey e @ g@Ra ST by B

14) Select the pair of forces which are non-contact force: /

3 9ol F JIA FT TIT N, N IERY (AT-Flecac) I o

1. Magnetic force and electrostatic force / Yaehia &e 3R R deg ol
2. Muscular force and magnetic force / U=t def 3R Yahra ot

3. Muscular force and frictional force / U2t g 31X o¥UT g



4. Electrostatic force and frictional force /fT2X 33}’13 g 3T g¥ur 9o

Correct Answer :-

« Magnetic force and electrostatic force / Iaehd a7 3R R deg o

15) In which one of the following cases will Common salt dissolve in water
most readily? /

frfaf@a & ¥ g Rufa & arRor A% ae F g9 aaar ¥ R @
STTI?

1. 10gm of Ice at 09C / 00 AfeTIw W 10 I %

2.10 ml of water at 900C / 900 afeaaw gt 10 fAMNN e

3.10 ml of water at room temperature / THAT d9ATT W 10 fHelellex o
4.10 ml of Ice cold water / §hfer 33 ST &1 10 Al

Correct Answer :-

. 10 ml of water at 90°C / 900 afeaad wW 10 fAeNeNex ST

16) Alternating current is not used in: /
YcTad! 8RT FT 3YAET SWA AT fFaT e &
1. Transformers / TrAHIER

2. Electric heaters / faggd drmde+

3. Electric geysers / facgd afek

4. Electro plating / faegd oue

Correct Answer :-

« Electro plating / faegd oue

17) The process of conversion of water vapour into liquid is called: /
I arT & gg A FTIIGOT HT YFHAT Fgarar ¢

1. Sublimation / Fedurdel

2. Condensation / TesTeT

3. Melting / TeleT

4. Fusion / |fFasoT



Correct Answer :-
. Condensation / g«

18) During rainy season the rain water goes deep down into the earth
passing through different layers of soil.

Which one of the following processes does not occur during rain water
seepage into the soil? /

W%Wﬁmﬁrmﬁﬁgﬁ%ﬁﬁﬁrqﬁ#gﬁg@?ﬁﬁm
A =T ATar B

aier & gl & s & Rae & e Amafaf@a & @ wla & vivar adt afea
gt 82

1. Filtration / feredest

2. Sedimentation / 31ddTGs
3. Distillation / 3THdeT

4. Decantation / f&dRoT

Correct Answer :-

« Distillation / 3mMddeT

19) |dentify the correct set of isotones among the following options. /

fafad A el & @ garafas & 3RT a4 A ggaa F

1°N and 150

1.

16 18

g0 and “30

2.

40 40

soCa and 6K
3.

1o4r and 13K
4,

Correct Answer :-
15 16
2N and *20



20) If ‘F’ is the force, ‘m’ is the mass and ‘v’ is the velocity, the dimensions
of ‘X’ and ‘Y’ on the relation

F = X(mv) / (1 + Y) are respectively /

P Ia e mMegAAA IR VAT E, AT F = X(mv) FFag & X 3R Y &
A gh-

1. T, T

2.LT1, LT2

3. T-1, dimensionless / T-1, 3
4. dimensionless, T / 3MAHE, T

Correct Answer :-

. T-!, dimensionless / T, 3mam@g=

21) The commercial unit of energy is expressed in terms of: /
Fo1 fr TINTTF sFE 37 T&f H syFq i S T

1. Nm

2. kKW

3. Joule

4. kWh

Correct Answer :-

+ kWh

22) Which of the following surfaces absorbs the least amount of heat energy
when exposed to heat radiation? /

efaf@a & @ Fia @ gag F A1 [/IFOr F T9F F 3 W FA § FH FSAT FaT
) FTMW»T FA §2

1. Surface coated with white paint / T%e e & fUd Ids

2. Surface coated with red paint / afel U¢ & 0T Idg

3. Surface coated with black paint / FTer Y & af9d Tdg

4. Surface coated with dark green paint / TT8¥ 8¢ Uc ¥ @iftd dIde

Correct Answer :-



. Surface coated with white paint / %¢ Ye & oIfUd ddg

23) Which of the following statement is true: /
fArfaf@a & @ la a1 99 77 &

1. Thrust is the force acting normally on a surface. / &89 Ush ddg W AT 9
T FIH T aTall g gl

2. Pressure is directly proportional to the area. / &dTd, &9l & Fcdal JHTIarfdHh
el

3. As thrust increases pressure decreases. /| SIH-5I¥ &9 §&dl § &did HH gIdT
ST gl

4. Pressure is inversely proportional to force applied. / adTd, e[ d¢f & fomdta &HHEITW
gl

Correct Answer :-

. Thrust is the force acting normally on a surface. / 819 Ueh Tdg W AT &
T HIH HlaT el 91 gl

24) Which of the following combinations are most suitable for composite fish
culture? /

e acraaee & v Aefaf@a & & Fia a1 w3ee ge@ 39T 87
1. Middle zone feeders and bottom feeders / #YT Sl ST UG dicH HIST
2. Surface feeders only / %hael Tdg HIsT

3. Surface feeders,middle zone feeders and bottom feeders / Tdg WIex, A SIE|
e} Td dicy Hiex

4, Surface feeders and bottom feeders / ddge e Td §lcH B

Correct Answer :-

. Surface feeders,middle zone feeders and bottom feeders / Tdg Wiex, A SiE]
18X TG dicH Hiex

25) Which of the following natural phenomena cannot be predicted
accurately? /

frafaf@a & & fFw yefas gear 1 ads afysgamh &t i a1 wFdr 372
1. Lightning / fS<telr

2. Thunderstorm / 3fTef-qohret



3. Earthquakes / &9
4. Cyclones / dshdrld

Correct Answer :-

- Earthquakes / 3{&h+q

26) Which of the following is not an animal protein? /
fRf@a @ F=21 v ST AT T8 §7?

1. Wool / 3

2. Silk / YerH

3. Milk / q&1
4, Pulses / STt

Correct Answer :-

o Pulses / cTel

27) Which of the following is not related to sound? /
fAefaf@d & ¥ #i7 @1 cafr § w@afa &t 32

1. Frequency / 3mgfa

2. Microphone / HATSHIhIT

3. Loud speaker / @138 TR

4. Myopia / AT

Correct Answer :-

« Myopia / &TaifaaT

28) Which is not a major advantage of Crop Rotation? /
ﬁmﬁﬁa##mmmmg@rmaﬁ%?
1. Additional use of fertilizers / 3a3ahT T JfaRead 3uATeT

2. Conservation of soil productivity / FaT 3carcehdT &l TREToT
3. Weed control / @IddR fag=or

4. Increased yield / 39T # Fef&r



Correct Answer :-

. Additional use of fertilizers / 3a3aT T JTAREFT 3T

29) Choose the incorrect physical property of non-metals. /
st F I sifaw qor F1 awT w

1. Generally they have low density. / THIA: Oddcd HH 8T ¢
2. They are not sonorous. / CIEEY q%’rsﬁ%‘r %I

3. They are brittle in nature. / El?ﬁ | HR g gl
4, They have high tensile strength. / 3= d-=Udl &HdI GGl %I

Correct Answer :-

« They have high tensile strength. / 3= d=Udl &HdI Eﬁ?ﬁ %I

30) Choose the incorrect statement among the following: /
farT & @ IqRa gaded F1 T=T X
1. Potassium is always stored in water. / GI¢TIF ST AT Uil & I@T AT gl

2. Potassium can be cut easily with a knife. / GIERITH Teh °y & AT & el
ST Tl gl

3. Potassium reacts with dilute acids to produce hydrogen gas. /
gregietel W HT 3cUlee FA & faw MRRAIA T el & wry HRHAT Har B
4. Potassium when burnt in oxygen forms its oxide. /

AT & ST e W NERTT &7 3HadSs g1dT gl

Correct Answer :-
. Potassium is always stored in water. / QI &I AT UT F I@T AT gl

31) When a spring is stretched by 2 cm, it stores 100J of energy. If it is
stretched further by 2 cm, then the stored energy will be increased by: /

9 TH FAE T 2 A g difad fma Sar §, 9 8@ 100 FAT AR @ §,
I 0 2 Gt 3k Re afaa frar Jrar §, a9 @ada ST # frae g g

1.400J
2.100J



3.300J
4.200J

Correct Answer :-

» 300J

32) Out of the following options, select the correct relation for the electric
power. /

frrafaf@a fwedl # @, Rega afFa § Rv a& d9w &1 a9a =)

V/R?

=
T
I

VZ/R

N
Y
1l

I/R?

W
Y
1l

4.P = IR

Correct Answer :-

. P = V2R

33) An olfactory indicator among the following is: /
far & @i v wor g @

1. Phenolphthalein / HretaFdfered

2. Soap / |IgsT

3. Clove / @ter

4. Turmeric / godl

Correct Answer :-

. Clove / dfqr

34) The SI unit for measurement of length is: /

TS F 9 F R S1 3HTS ©:
1. Millimeter / TReNHIET
2. Kilometer / ferelldTex
3. Centimeter / GEHIET



4. Meter / e

Correct Answer :-

e Meter / Al

35) If a student is able to make predictions in an experiment by making logical
connections using correct evidences, he/she is capable of: /

gfe ®13 faendf T Jreat &1 IuA FF Aifhe Jae FATH fhdt v o qd-geen &3 # gem
2, d ag g A gam B

1. Drawing conclusions / oSy foepreretr
2. Observation / 37dellehel
3. Experimentation / T

4. Providing explanation / TISIHRUT UaT HAT1

Correct Answer :-

« Drawing conclusions / fas&y faeTerar

36) What is mineral oil? /

Qe adt 182

1. A mixture of glycolipids / TelShITITS I Ueh AT

2. A mixture of hydrocarbons / E'IBQEH_@‘IFIT HI Ueh fASOT

3. A mixture of lipids and minerals / fofast 3k @fasr &1 e Asor

4. A mixture of water and oil / GTaiT 3X Aol T TH AT

Correct Answer :-

« A mixture of hydrocarbons / TS3Ihlssil &l Ueh fHHOT

37) Find the time taken by the sound to travel through a distance of 5 km, if its
frequency is 2.5 kHz and the wave length is 20 cm. /

gfe @i ot gty 2.5 fFaieds § ok avwesd 20 9 8 a@F 39 5 et ot g F2=1
a1 THg A, T B2

1.2.5s / 2.5 Uhs
2.20s / 20 ks
3.10s / 10 ¥hs



4.15s / 15 ¥ehs

Correct Answer :-

. 10s / 10 &3

38) Neem leaves and its twigs are used in the production of tooth pastes.

Identify the substance present in them which prevent tooth decay. /

A & gat AR AT cgfAAT FT 3UART AAFANTE F IUGA H FaT ST g1 sUHA
39S Eidl Y ST A HY Aol qTH ded T g HI

1. Carboxylic acid / PIafFEITod 3
2. Alkali / 3Tceholl
3. Mild acid / @eohl 3HFol

4. Salts / oIdUT

Correct Answer :-

o Alkali / 3Toeholl

39) Which one of the following factors will change the magnitude of Equilibrium
constant for the following reaction?

N2(g) + 3Hz(g) = 2NH3(g) /

Wﬁﬁﬁmwﬁqﬁ@aﬁ%%ﬁqw%% gf¥HTor Hi
ded 3m?

N2(g) + 3Hz(g) = 2NH3z(g)
1. Use of finely powdered Iron catalyst / SIeh T[0T oilg 39 &1 3UTT
2. Decrease in the pressure of Ny / Ny & &sTd H el

3. Increase in Temperature of the reaction / 3ifATHaT & TUAT & Jefer
4. Concentration of Reactants / 3f®edeh FHr Figdr

Correct Answer :-
« Increase in Temperature of the reaction / 3fRfshaT & dM9AT & Jefer

40) Which of the following is not a part of the 5E constructivist model of teaching-
learning? /

frafefad & 9 919 Rieor-3ifir™ & 5 w=AEd! Alsd &1 = 78 82



1. Engage / @eldeT (T3TaT)

2. Elaborate /fa¥qd ( Tellse)
3. Enhance / SgaX ( UgH)
4. Explain / aUTeT (TFHTOI)

Correct Answer :-

« Enhance / SgcX ( Teled)

41) Which of the following is not a characteristic of a good textbook? /
Frafafaa & @ #19 Id ta St urengTas @1 faxivar 78 22

1. It may not cover the entire syllabus of one stage. / g Teh TIOT H C|3' qredshHA Hr
afFAfrd 87 aX Fahdr g

2. It is a finished product for transferring the knowledge. / I8 JTeT & EATARUT & folT Teh
R 3cmE §l

3. It should not be self-contained. / IJ§ TIHT AT e JiFATIT 8T gler ARTI
4. It may not be necessarily for a whole year. / T8 T R a¥ & iU a2 gt &) Il ]

Correct Answer :-

« Itis a finished product for transferring the knowledge. / I8 AT & FEATAIOT & foIT TS
IR 3c9TE &

42) Which of the following is an objective for teaching students of higher primary level
(V, VI, VII)? /

I WA TR (V, VI, VII) & B & Rieor & fore Fufafaa § 3 s sexa a?
1. Development of understanding of laws, concepts and principles /
AT, TUROM3T 3R Aguial 1 HsT & 9|
2. Development of power of reasoning / do &1 AfFd &1 fara|
3. Development of practical outlook / SITAgIR TISCHIUT &7 fahr |
4. Development of interest in reading scientific literature / 3T TR Uga H = &1 A/ |

Correct Answer :-

« Development of power of reasoning / de I ATFT FI |



An example of merry-go-round can be used to explain which of the following scientific
concepts to the students? /

AN-M-IGs (FFSten) &1 e e # ¥ #19 @ agfae saurRun &) o &) IHs &
fere swwTe foran =i gar 82

1. Oscillatory motion / MEGHICEIG
2. Rotation of Earth / C(T'%_Cﬂ' Al EI;Uﬁ?-I'
3. Gravity / {]}W

4, Centripetal force / W@ﬂ'@' el

Correct Answer :-

« Centripetal force / m‘mﬂ'@' g

44) Clinical thermometer is designed to measure the: /
A yuiHier F f$A Arua & fe fewrs= frar man 8:

1. Temperature of the chemicals used in the clinic / Felifeleh & Y TAIAT T
AT HTeT

2. Temperature outside the clinic/ Falifae & dgT dTIHA
3. Temperature inside the clinic / Fellfaieh & 3GT dATIHTA
4, Temperature of the human body / HIHd YRR &I dgHH

Correct Answer :-

« Temperature of the human body / HIHd YRR &I dgHH

45) What is the duration of kharif crops? /
GG Bl B SAf T 8?2

1. June to October / SsT & 3{eFca

2. March to September / ATE ¥ RydsR

3. October to March / 3dgaR T O

4. November to April / TdsR § 310d

Correct Answer :-

« June to October / 5[ & 3feF¢s



An object completes 120 revolutions in 30 seconds along a circular path. The
ratio of its frequency to its period is: /

TS a3 U URUT UY TR 30 95s T 120 TRHHUN &I T Hd! 81 39 @iy & forg
SHBT TR BT U 2

1.1:4
2.1:2
3.16:1
4.4:1

Correct Answer :-

+ 16:1

47) The force acting on the bullet when it moves through the air towards a
target is: /

de WR WA 9141 9, 9 gaT A 31 $Y 3R d¢a1 3 dl a9 8

1. Force due to the gun / sgeh & HRUT el

2. Gravitational force alone / 37ehel &cdTeh¥OT &el
3. Gravitational force and frictional force. / WQ'UT o 3R gyur ao1|
4. Frictional force alone / 3Thel OYUT dol

Correct Answer :-

- Gravitational force and frictional force. / J&careh¥uT FoT 3N EYOT aef|

48) Expanding and cooling of hot air results in: /

T g1 3T fawR iR faes e 9 & [T ufvomd g &:
1. Condensation / HEelel

2. Vapourisation / ATl

3. Hail storm / gy

4, Precipitation / 3qaqur

Correct Answer :-

. Condensation / g«



The radiations absorbed by ozone are: /
3l gRT ANy fafewor 8:

1. Ultraviolet rays / TRTslereir foheor

2. Infra red rays / 3/a%&d faol

3. Gamma rays / AT foRoT

4. X-rays / Ta-X

Correct Answer :-

- Ultraviolet rays / GRreleredT fohior

50) A bus is moving with a speed of 72 km/h, convert its speed into m/s: /
T 99 72 fortil/ et ot nfa & 7 36 8, s9e! nfa &1 @/ ¥ ufvafda a3
1.10m/s / 10 #H/&

2.720m/s | 72 #H/&

3.30m/s / 30 HrA

4.20m/s / 20 #A/&

Correct Answer :-

. 20m/s / 20 A/

51) A teacher explains that during experiments, one can verify results using more than one
method. This shows an understanding of which attribute of scientific temper? /

T e urEAr ¢ & F v & ek, v @ 31w RfOAY w1 3 w3
IROUMAT F Tcid fFar 51 Toar §1 s0d dafasw T@ag @ Fia i@ [Fdwar &1
aer gxar &2

1. Critical thinking / 3TgsT RideT

2. Open-mindedness / Tgureirerdr

3. Respect for evidence / A& & foIT HFAT
4. Logical thinking / dTféper RIdeT

Correct Answer :-

« Critical thinking / 3TgeT fdideT



52) For a person suffering from hypermetropia, the image of the object is
formed: /

e Iv A Nifsa ue aafe & forg avg &1 ufafda Sar a9« 8:
1. Behind the retina / IfeaT & 4y

2. In front of the retina / XfeaT & A

3.0n the retina / Yf&ar

4.0n the eye lens / aF o/ W

Correct Answer :-

« Behind the retina / Year & 9IS

53) Glucose drip is usually given to a physically weak patient because: /
TS fSU MR IR IMNINE U F FHwR 7w &Y fear sirar 8 Fife:

1. He is not drinking enough water. / @g 93Tcd STl =Tl dT I@T &I &l

2. Dehydration can be prevented. / 388 ASellOT HI AT ST TohdT &l

3. It readily gets absorbed for energy. / T8 TR T FHoll & foIT TN 81 ST B
4. He gets a balanced diet. / 98 399 Idfard S8R U1 B

Correct Answer :-

. It readily gets absorbed for energy. / I8 IRAdI ¥ SHolf & fod ranfid g1 S g1

54) If the angle of incidence in the first medium is equal to the angle of
refraction in the second medium, then the absolute refractive index of the
medium is: /

gfe ugd ATeaw | STufad HIvT goR WTeH H 3T & PV S JHM g, df HISHH BT
quf Svad® gaai® §:

1.1.33
2. 1.1
3.1.0
4.1.5

Correct Answer :-

- 1.0



55) Which one of the substances mentioned below is not responsible for the
depletion of ozone layer? /

3T 7T varf # | 19 A1 S WA & 3@s F e Sarerd 751 82
1. Carbon tetra chloride / FTeaT CCFARISS

2. Ammonia / ST

3. Aerosols / Qﬁ@ﬁ

4. Chlorofluoro carbons / om\lexlu(g&\l@lmlslrd

Correct Answer :-

. Ammonia / 3MI=AT

56) Which one of the organisms mentioned below is a herbivore ?/
i afofa sital & @ o9 U IHRR 72

1. Shark / %

2. Peacock / AR

3. Frog / Hg®

4. Mouse / TgI

Correct Answer :-

« Mouse / gl

57) Gallinaceous domsticated fowl,bred and raised specifically for meat
production is: /

TP apc-aat uraq ueft, 7w < Al ¥ u J 7y Idred & fore ureht o 3:
1. Rhode Island / {5 3Sels
2. Turkey / 9% Tg&iY

3. Broilers / §igelX

4. Ducks / 9dd@

Correct Answer :-

. Broilers / siseR

58) Unambiguous instructions are always required for: /



e & T gdem Tuse fAder 3maeas 8 &

1. Long Answer type questions / &rel 3aT 9

2. Supply type objective questions / ITels¥] (3-1th;%) JhR d{-gllro\-lbo 9T

3. Selection type objective questions / TIeT FhR d(-caif;lbo IR

4. Short Answer type questions / oTg 3T 9T

Correct Answer :-

« Selection type objective questions / TIeT THR & d{-gil?-lbo IR6T

59) Fishes live in water. It is their natural Use the right biological term.
/

#afodr, 9t # W@t §1 I 39 THfaw ¢ 3ugFd Sfaw ereq 1 g
I

1. Home / ©X

2. Habitat / 3mar&

3. Environment / ardarayor

4. living space / g« T TATT
Correct Answer :-

- Habitat / 3marg

60) Which of the following topics clearly demonstrates the interdisciplinary
nature of science? /| AFfAf@dT & ¥ <ia ¥ vy TToe ™ T [T fN
IR fawTF YFfa & quutar 8?2

1. Colloids / TeII$S

2. Evolution / 3¢HT

3. Programming / ShATGRMT (STITTH)
4, Astronomy / aneT fa'c.'SIIT

Correct Answer :-

« Astronomy / @diel ﬁ?‘}’SIT



